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it 9,617 9,693 1.4%
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=F& 9,995 6,033 1.3%
EHE 9,799 2,939 2.4%
MER 6,398 6,487 1.4%
WzR 6,022 6,110 1.5%
BER 6,061 6,108 0.8%
RPE 9,339 2,485 2.7%
AR 9,496 9,656 2.9%
HER 6,078 6,136 1.0%
BER 9,058 9,481 8.4%
TER 9,265 9,385 2.3%
REAR 9,911 6,080 2.9%
AR)NE 9,137 6,028 9.1%
FRE 6,178 6,302 2.0%
=R 6,028 6,301 4.5%
AR 6,330 6,349 0.3%
BHAE 6,074 6,242 2.8%
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RHR 9,996 9,623 0.5%
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=ER 6,104 6,174 1.1%
HER 9,973 6,127 2.6%
AR KT 6,129 6,328 3.2%
PN 6,636 6,826 2.9%
EER 9,895 6,001 1.8%
=RE 9,670 9,851 3.2%
IR 6,538 6,541 0.0%
SERE 6,433 6,399 —1.2%
ERE 6,324 6,379 0.9%
GRS 6,064 6,271 3.4%
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a5 9,996 6,078 1.4%
EER 9,961 9,984 0.4%
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REARR 6,374 6,240 —2.1%
AHE 9,790 9,956 2.9%
=R 9,788 9,955 2.9%
ERER 6,138 6,286 2.4%
R 6,854 6,826 -0.4%
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= 8% — 5 &k IR #H

(fRERHHI)

FE7HREM S8 HARMR N IRERFI A LERE (5%)
HERFIE & Bz 4 EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

JtiEE LR 5,773 5773 0.0% 21.0%
JtiEE EEET 6,260 6,320 1.0% 21.5%
JtiEE MgTh 5,990 5,990 0.0% 25.5%
JtiEE NG 6,190 6,190 0.0% 21.5%
JtiEE =T 4,500 4,417 -1.8% 17.6%
JtiEE ;i) 23] 5,860 5,650 -3.6% 21.7%
JtimE wILTT 5,790 5,890 1.7% 21.3%
JtiEE R 5,925 6,080 2.6% 20.5%
JtimE =44l 6,233 7,875 26.3% 28.4%
JtiEE ERIR™ 5,300 5,300 0.0% 22.4%
JtiEE mEm 5,298 5,799 9.5% 16.3%
JtiEE Bt 5,300 5,404 2.0% 18.2%
JtimE & N 5,850 5,897 0.8% 17.9%
JtimE AT 5,250 5,595 6.6% 16.4%
JtiEE EME™ 5,300 5,800 9.4% 21.4%
JtimE =¥k 4,800 4,700 -2.1% 20.5%
JtiEE IRl 5,720 5,720 0.0% 19.3%
ibimE REMH 5,275 5,600 6.2% 21.9%
JtimE AT 4,650 4,950 6.5% 21.1%
JtiEE TRl 5,025 5,025 0.0% 19.0%
JtiEE &% 5,225 5,847 11.9% 20.1%
JtiEE =%mh 5,225 5,490 5.1% 25.2%
bl 3] R=H 4,300 4,300 0.0% 20.3%
JtiEE Fk 4,900 4,600 -6.1% 17.4%
JtiEE ™ 5,290 5,290 0.0% 16.9%
JtimE B 4,600 5,000 8.7% 20.7%
JtiEE FENT™H 4,600 4,600 0.0% 18.6%
i ERHM 4,950 5,900 19.2% 21.2%
ibimE ERlth 4,300 4,300 0.0% 17.8%
ibimE BT 4,800 4,800 0.0% 15.6%
ibimE REH 4,983 4,930 -1.1% 18.6%
tigE P|A/N= T ] 5,200 5,200 0.0% 18.0%
dbimE AT 5,150 5,150 0.0% 16.6%
tigE P ] 6,600 6,600 0.0% 20.7%
tigE = JI| ET 5,600 5,660 1.1% 18.3%
tigE g 5,900 5,900 0.0% 20.3%
tigE FARITHT 5,000 5,200 4.0% 21.2%
tigE & SHT 5,600 5,600 0.0% 16.1%
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FE7HARRN SE8HARMR A RERA EAELE (%)
EERFE L B E L HEELB (AR HEEL (AR DEEUE ENERER
(M) (M) (%) | FF2F12 A RFFR

JtimE &N RET 5,300 5,400 1.9% 19.5%
JtimE AR RHET 5,600 5,900 5.4% 22.3%
JtimE + ERHAT 5,600 5,950 6.3% 19.7%
JtimE FEe ERAT 4,800 5,500 14.6% 18.2%
JtimE FRET 6,520 6,920 6.1% 21.8%
JtimE NE 5,700 5,500 -3.5% 19.2%
JtimE R 75 ERET 5,500 6,000 9.1% 22.4%
JtimE LT 6,250 7,230 15.7% 20.4%
JtimE t/EHrT 6,150 6,650 8.1% 20.2%
JtimE [ iR ERET 6,000 6,800 13.3% 20.7%
JtimE Z ERET 5,400 6,000 11.1% 20.6%
JtimE B2 [ BT 4,000 4,000 0.0% 18.1%
JtimE S &l 6,000 6,300 5.0% 19.6%
JtimE B f A HT 4,180 4,500 7.7% 21.1%
JtimE & ERET 5,950 6,100 2.5% 21.3%
JtimE B NET 6,100 5,900 -3.3% 21.2%
tigE KHET 5,784 5,788 0.1% 24.3%
tigE FARAT 5,408 5,550 2.6% 17.5%
tigE FR{ZHT 5,570 5,950 6.8% 18.0%
itisE ~iBHT 5,567 6,270 12.6% 17.8%
itisE SEILET 5,162 5,162 0.0% 17.9%
JtimE A #e BT 5,533 5,900 6.6% 20.2%
itiEE Bk A HT 5,100 4,900 -3.9% 17.4%
itiEE 3 L) 4,950 5,300 7.1% 17.7%
JtimE JLE T 5,000 6,500 30.0% 18.8%
itisE B EHET 4,600 4,600 0.0% 13.3%
JtiEdE 0 P ET 4,700 4,800 2.1% 19.0%
i FEAFRT 6,400 6,700 4.7% 19.3%
JtiEdE L FRHET 6,300 6,300 0.0% 23.0%
dtimE LA ET 6,600 6,300 -4.5% 19.8%
JtimE Z Bl AT 6,975 6,980 0.1% 16.8%
JtimE 3y 6,000 6,000 0.0% 19.5%
dtimE L EREFHT 4,900 5,200 6.1% 14.8%
itiEE = R EFHT 4,700 5,200 10.6% 18.6%
itiEE = REFHT 5,000 5,400 8.0% 19.0%
JtimE =z o) 4,700 5,000 6.4% 17.6%
jtimE FNEHT 5,700 5,950 4.4% 21.1%
itiEE | KA BT 5,600 5,900 5.4% 17.5%
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FE7HARRN SE8HARMR A RERA EAELE (%)
EERFE L B E L HEELB (AR HEEL (AR DEEUE ENERER
(M) (M) (%) | FF2F12 A RFFR

JtimE TJIET 5,500 6,000 9.1% 16.4%
JtimE SEIRHAT 4,500 4,500 0.0% 18.7%
JtimE R REA 3,000 3,300 10.0% 8.9%
JtimE o 1| BT 5,700 5,980 4.9% 19.1%
JtimE -E2T) 6,291 6,091 -3.2% 23.0%
JtimE INTET 4,975 4,981 0.1% 19.3%
JtimE E RITET 4,908 5274 7.5% 25.1%
JtimE IR ET 4,925 5,500 11.7% 22.1%
JtimE EIES) 5,400 5,600 3.7% 27.4%
JtimeE & 7l BT 5,100 5,100 0.0% 18.4%
JtimE KIGHT 5,300 5,300 0.0% 19.4%
JtimE R 6,000 6,600 10.0% 21.0%
timE FEHE Al AT 5,100 5,000 -2.0% 20.9%
timE e A1 BT 5,500 5,500 0.0% 20.1%
itiEE ) 4,600 5,500 19.6% 20.0%
JtimE 2= 5,500 6,000 9.1% 18.0%
JtimE #L3CHT 4,600 5,000 8.7% 17.7%
JtimE F AT 4,500 4,600 2.2% 20.0%
JtimE PR =T 4,500 4,600 2.2% 19.6%
itisE W58 3iE AT 5,617 5,400 -3.9% 16.6%
itisE ST 4,800 5,200 8.3% 18.7%
itiEE i RIIET 4,433 4,900 10.5% 18.8%
JtimE L EHET 5,667 5,750 1.5% 15.7%
itisE A EHT 5,500 5,500 0.0% 19.5%
itiEE INEIKET 4,800 5,200 8.3% 20.1%
itisE &Il F T BT 4,850 5,650 16.5% 17.6%
JtimE B FHET 4,200 4,200 0.0% 23.5%
dtimE 1& &= e HT 4,500 4,500 0.0% 18.6%
JtiEdE REZAT 4,500 5,000 11.1% 16.4%
tigE i% Il BT 5,000 5,000 0.0% 19.3%
JtimE g AT 5,000 5,000 0.0% 25.1%
JtiEdE B AR BT 3,800 4,300 13.2% 19.3%
JtiEdE 78 EER 4,800 4,800 0.0% 20.7%
JtimE Tt HT 5,000 5,200 4.0% 19.0%
JtimE KZEHT 5,200 5,000 -3.8% 18.4%
JtimE L HET 6,300 6,600 4.8% 20.0%
itiEE TR 6,100 6,600 8.2% 22.7%
JtimE HZHT 5,717 6,004 5.0% 20.3%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
HERFIE & Bz 4 EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

JtiEE ER=1:) 5,200 5,600 7.7% 18.7%
JtiEE iR R HAET 4,500 6,000 33.3% 19.1%
JtiEE = HT 5,200 5,200 0.0% 19.4%
JtiEE L HHHET 4,600 4,600 0.0% 16.0%
JtiEE =F=t) 5,507 5815 5.6% 21.5%
JtiEE F ER T 4,800 5,300 10.4% 17.9%
JtiEE ST ET 5,492 6,622 20.6% 18.5%
JtiEE BRALLET 4,600 4,600 0.0% 19.0%
JtiEE ZYHHET 5,514 6,800 23.3% 15.1%
JtimE HEHE 5,100 5,300 3.9% 19.5%
JtiEE T HEET 6,100 6,100 0.0% 17.8%
JtiEE - iRET 5,000 5,300 6.0% 17.7%
JtiEE L) 5,800 6,200 6.9% 16.4%
JtiEE H1SHT 5,600 6,200 10.7% 21.1%
JtimE FEIKET 5,600 5,700 1.8% 18.8%
JtiEE 3 =T 6,040 6,300 4.3% 19.6%
JtimE AL AT 4,000 5,000 25.0% 18.1%
JtimE CES) 5,500 5,700 3.6% 18.3%
JtimE KA ET 5,800 5,800 0.0% 20.4%
JtiEE [ R HT 4,400 4,400 0.0% 15.0%
bl 3] 5 Al ET 5,400 5,700 5.6% 18.9%
itisE ;th EHET 5,500 5,186 -5.7% 19.2%
bl 3] SR 4,845 4815 -0.6% 20.8%
JtiEE Z Il BT 5,980 6,280 5.0% 17.7%
itisE REHT 5,750 5,750 0.0% 15.4%
bl 3] ek Il BT 5,700 5,700 0.0% 17.6%
ibimE SEHNRET 5,400 5,400 0.0% 18.4%
JtiEE £ R BT 5,084 5,084 0.0% 18.8%
tigE =S¥ 4,600 5,580 21.3% 21.5%
i IR AET 4,702 4910 4.4% 14.1%
JtiEE ZZRHT 5,727 5,592 -2.4% 21.7%
ibimE BFEHT 5,808 5,500 -5.3% 20.5%
tigE BEM 5,587 5,325 -4.7% 15.1%
tigE H HRET 5,550 5,500 -0.9% 18.4%
tigE pill B2 4,900 5,100 4.1% 16.0%
tigE HRARIEET 4,700 4,900 4.3% 14.9%
tigE IR HT 5,000 5,300 6.0% 16.8%
tigE F& E3HT 5,300 5,300 0.0% 14.2%
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EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

JtiEE BE A AEES 4,900 5,100 4.1% 20.6%
JtiEE TR EREES 5,200 5,200 0.0% 19.0%
JtiEE BELZES 5,758 5976 3.8% 20.8%
JtiEE REMREFHES 6,077 6,300 3.7% 20.5%
EHRE FHm 6,679 6,679 0.0% 19.5%
EHRE BhATTH 6,474 6,757 4.4% 18.8%
EHRE J\FTh 6,300 6,000 -4.8% 15.9%
EHRE 2aT 6,650 6,650 0.0% 17.5%
EHRE HERNIET 6,600 6,700 1.5% 17.2%
EHRE +FEH 6,100 6,950 13.9% 17.0%
EHRE =Rt 6,700 6,700 0.0% 15.2%
EHRE oM 6,700 7,000 4.5% 19.2%
EHRE DMBH 6,780 7,200 6.2% 19.8%
EHRE EIH 6,500 6,800 4.6% 18.0%
EHRE N ET 5,230 5,900 12.8% 16.8%
EHRE 4 R ET 5,500 5,800 5.5% 22.3%
EHRE ERA 6,800 6,800 0.0% 17.8%
EHRE o\ 4 R HT 6,860 6,860 0.0% 19.6%
EHRE i JRET 6,000 6,300 5.0% 18.3%
HAE AT 6,200 6,200 0.0% 16.3%
AR 78 H B 6,500 6,700 3.1% 17.5%
HAE R I AT 6,800 6,800 0.0% 18.4%
HAE PN 6,700 6,700 0.0% 20.7%
HAE A&+ 6,400 6,200 -3.1% 17.2%
AR HRAJNET 6,900 6,900 0.0% 20.5%
HAE FEEET 6,400 6,500 1.6% 17.7%
AR HraET 6,450 6,990 8.4% 16.7%
FHE F7i0 T 6,100 6,400 4.9% 18.7%
AR + FHT 7,480 7,600 1.6% 19.7%
AR NFHT 7,760 7,760 0.0% 13.8%
AR 1e R HT 6,400 6,400 0.0% 19.5%
HFAE BILET 8,380 7,950 -5.1% 21.0%
HFAE AT 7,500 7,700 2.7% 19.3%
AR HULSEHET 6,750 6,600 -2.2% 13.4%
AR pN:il:] 5,900 6,900 16.9% 16.3%
AR FaAA 6,800 7,300 7.4% 20.8%
AR R4 6,050 6,950 14.9% 17.0%
AR 1EFH 6,000 6,200 3.3% 16.3%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

EFHE =FH 7,620 7,720 1.3% 18.9%
EFHE AFHET 6,600 6,600 0.0% 15.1%
EFHE HF-HT 7,300 7,300 0.0% 18.1%
HFAE FABRAT 7,400 7,400 0.0% 17.4%
HFAE B £ HT 6,700 6,400 -4.5% 14.4%
HFAE AT 6,100 6,800 11.5% 14.2%
EFR BT 6,174 6,174 0.0% 20.5%
EFR =3 6,250 6,150 -1.6% 17.6%
EFR Kiig 5,480 5,280 -3.6% 17.8%
EFR (=0T 5,959 5,748 -3.5% 19.2%
EFR dEmH 6,110 6,050 -1.0% 17.7%
EFR =EFH 5,425 5,425 0.0% 19.3%
EFR RERiT = H 6,200 6,000 -3.2% 18.7%
=FR £R8H 5,329 5,329 0.0% 20.0%
EFR ] 5,200 5,400 3.8% 19.4%
EFR FEiR™ 6,030 6,030 0.0% 15.5%
EFR FERHET 6,360 6,500 2.2% 18.7%
EFR SRR ET 6,480 6,480 0.0% 17.4%
EFR & hET 6,500 6,500 0.0% 16.7%
EFR FEFNE T 8,100 8,100 0.0% 24.4%
=FR /7 I ET 5,200 5,100 -1.9% 16.1%
EFR 1% AT 6,300 6,300 0.0% 21.8%
EFR KHEET 6,072 6,200 2.1% 19.6%
=FR 1LI B BT 5,377 5,600 4.1% 16.8%
=FR aRET 6,400 6,900 7.8% 21.8%
EFR A 27 4 A1 6,700 6,700 0.0% 19.6%
BFE —FiRAETRERES 6,070 6,714 10.6% 18.7%
EFR RE I EITREHES 6,126 6,499 6.1% 20.9%
EFR ABLEES 5,970 6,160 3.2% 18.4%
EFR — B R KT & 5,962 6,167 3.4% 21.9%
BEHE g™ 5,893 6,001 1.8% 18.2%
BEHE aEh 5,900 5,900 0.0% 20.2%
=R = 4l 5,712 6,000 5.0% 18.2%
=R LA™ 4,900 5,500 12.2% 19.4%
=R HA™ 5,400 5,600 3.7% 16.9%
=R £ 5,430 5,590 2.9% 17.8%
=R AET 5,600 5,700 1.8% 17.1%
=R 2= ] 5,800 5,800 0.0% 15.8%
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(A) (A) (%) | FF2FE12AKRER

BEHE =yl 5,998 6,325 5.5% 17.0%
BEHE BRH 6,800 6,000 -11.8% 20.5%
BEHE ER 5,960 6,300 5.7% 21.6%
BEHE E2N_Tr 5,000 5,500 10.0% 19.0%
BEHE K 5,865 6,370 8.6% 20.1%
BEHE EA™ 5,750 5,750 0.0% 13.4%
BEHE B EHT 4,050 4,800 18.5% 17.2%
BEHE + 4o EHT 4,950 5,450 10.1% 29.4%
BEHE KAl [ T 3,900 3,800 -2.6% 12.5%
BEHE +fEHAT 5,850 6,200 6.0% 16.3%
BEHE L& T 5,400 5,600 3.7% 14.9%
BEHE J11 U5 T 6,380 6,380 0.0% 18.2%
BEHE HLFRET 5,640 6,060 7.4% 22.8%
BEHE B IEHET 5,850 5,850 0.0% 17.5%
BEHE 1L T T 5,500 5,500 0.0% 20.5%
BEHE N 5,600 6,600 17.9% 18.4%
BEHE + 4 iR HT 5,600 6,200 10.7% 17.1%
BEHE I FFET 5,400 5,400 0.0% 14.7%
BEHE A FOET 6,520 6,520 0.0% 17.8%
BHE KIERET 6,200 6,300 1.6% 19.9%
BEHE R+ 6,500 7,000 7.7% 19.7%
=R & RRET 5,600 5,600 0.0% 18.4%
=R hnsEET 6,300 6,300 0.0% 19.5%
BEHE ARET 6,000 6,000 0.0% 17.4%
=R = HHT 5,900 5,800 -1.7% 18.3%
=R % || #T 5,400 5,800 7.4% 22.3%
BEHE R = REHT 6,000 6,000 0.0% 18.4%
FEE FETT 6,232 6,232 0.0% 20.5%
FEE RefX 6,800 6,800 0.0% 21.2%
MEE BFh 6,250 6,250 0.0% 20.5%
MEE KEET 6,771 6,771 0.0% 19.9%
FEE BEW 7,157 6,715 -6.2% 22.2%
MEE iR 5,700 5,700 0.0% 19.0%
FERER EEA™ 6,300 6,980 10.8% 17.7%
MEER P ki ] 6,800 6,800 0.0% 17.8%
MEER dLFE™ 6,460 6,460 0.0% 20.8%
MEER /N BT 5,300 5,300 0.0% 14.7%
FRERER £/ H 5,800 5,800 0.0% 20.6%
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EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

FER PR EET 7,400 7,800 5.4% 25.6%
FEE =7EmT 6,900 6,900 0.0% 22.2%
FEE AVE:) 6,800 6,800 0.0% 21.1%
FEE Eko4=1:) 8,400 8,300 -1.2% 21.3%
FEE J\BR S ET 6,700 6,700 0.0% 19.0%
FER F )1 ET 7,900 7,900 0.0% 23.4%
FEE Kkt 4,600 4,600 0.0% 13.7%
FEE T ET 6,050 6,300 4.1% 21.2%
FEE E9o% E ) 5,700 6,200 8.8% 19.0%
MER KBRS TR EE S 6,280 6,500 3.5% 19.8%
MER Kl i R A B A 6,300 6,700 6.3% 20.5%
LRz R Lz 5,700 5,800 1.8% 16.4%
A KiR 5,750 6,100 6.1% 18.0%
Lz R ESRE ™ 6,580 6,580 0.0% 19.1%
iz R SEETT 6,480 6,380 -1.5% 19.2%
iz R MET 6,200 6,330 2.1% 17.5%
iz R 3% ) 5,980 5,980 0.0% 17.0%
iz R Ll 6,080 6,080 0.0% 20.6%
iz 8 it 5,300 5,800 9.4% 20.1%
iz R RH™ 5,980 5,990 0.2% 17.1%
A XEH 5,700 6,000 5.3% 15.2%
LRz R RiRT™ 5,900 6,100 3.4% 16.1%
A EBIER™ 5,460 5,460 0.0% 18.5%
LRz R mkG™ 6,400 6,400 0.0% 17.7%
LRz R 1L BT 5,800 5,950 2.6% 16.2%
iRz R ch LI BT 5,800 5,900 1.7% 17.1%
iRz R AL ET 5,670 6,180 9.0% 17.1%
iRz R 75 )1 T 5,000 5,000 0.0% 18.4%
T ZRHT 5,880 5,880 0.0% 20.0%
iRz R KTHT 6,050 6,050 0.0% 19.3%
iRz R KA HET 6,300 6,300 0.0% 20.1%
iRz R & LIET 6,600 7,900 19.7% 18.4%
iRz R B LAT 6,500 6,200 -4.6% 17.0%
Iz 8 Fit RZHT 6,000 6,000 0.0% 18.9%
Iz 8 E=E)IET 6,700 6,200 ~7.5% 18.9%
Iz 8 KEHt 6,600 5,800 -12.1% 18.3%
LAz R i )11 7% 6,500 6,500 0.0% 17.4%
iRz R FiR% 6,700 7,000 4.5% 20.0%




F8HME—S5&EMBKRA (RRFHR

FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

Lz 2 =Y 5,900 5,900 0.0% 18.2%
Lz 2 ki) 5,900 5,900 0.0% 18.2%
Lz 2 INEIET 5,890 5,890 0.0% 18.4%
Lz 2 H FERT 5,850 5,850 0.0% 17.1%
Lz 2 B S BT 6,850 6,680 -2.5% 17.4%
Lz 2 =) 5,800 6,100 5.2% 17.6%
Lz & FERIET 6,300 6,300 0.0% 17.9%
LRz R WA BT 6,000 6,100 1.7% 19.1%
BEE BE™ 6,100 6,100 0.0% 19.8%
EER E3= £ N 6,050 6,600 9.1% 20.1%
EER BT 5,573 5573 0.0% 18.5%
EER WhET 6,068 6,200 2.2% 20.8%
EER =FnH 5,900 5,900 0.0% 17.2%
EER AT 6,100 6,470 6.1% 18.9%
EER EZAM 5,480 5,480 0.0% 20.8%
EER MET 6,270 6,270 0.0% 19.2%
EER b N} 6,200 6,200 0.0% 18.0%
EER A+ 6,000 6,000 0.0% 20.0%
EER ST 5,985 5,900 -1.4% 17.2%
BEE FEH 6,378 6,431 0.8% 19.8%
BER rxEh 5,900 5,900 0.0% 16.1%
BER SYTHT 6,292 6,583 4.6% 19.0%
BER = R AT 6,291 6,645 5.6% 18.6%
BER JU{RET 6,947 7,049 1.5% 20.8%
BER KEH 5,500 6,000 9.1% 15.6%
BEE HRET 5,900 6,300 6.8% 17.0%
'SR KK+ 6,000 6,500 8.3% 18.0%
'SR T 4ERET 6,200 5,900 —4.8% 19.5%
'SR AR I A 4,500 5,200 15.6% 14.6%
=BEE REHET 5,900 5,900 0.0% 27.2%
=BEE FAREAT 6,000 6,000 0.0% 19.9%
EER LG R4 5,900 6,300 6.8% 18.1%
'SR PR 5,800 5,900 1.7% 19.8%
BEE A RRHT 6,700 6,900 3.0% 22.2%
BEE Y e CET 6,000 5,900 -1.7% 19.3%
BER SRR T 6,850 6,850 0.0% 20.8%
BEE A IES 6,500 7,500 15.4% 20.6%
BEE W2 HT 5,400 5,400 0.0% 19.1%




ESWME—SRBHA

(fRERHHI)

. 57 HRIR SRR I K
03 R 1245 RiRE% £ 58 (F50) il s iy (2%)
H BUE ENERER
p (M) ()
- —m — (%) | 4 F024E 12 5 KB A
BEE S LAy , e e 222
- i 6,900 6,900 =
RER repiE i 0.0% 20.9%
. i 6,500 6 -
RER £ BT 900 6.2% 23.7%
. ‘ 6,800 6 T
ERE P = i 207
. 5,700 5 T
EBR RUH = i 15
- K He] ] 5,474 . /0
BaE b gt R i 16.2
. 5,425 2
8 ST o —2 136
5,495 o
EER maE e - 149"
= 5,600 i
EBR P ~— ks 170
- = 4,700 O
RER =t 4,800 2.1% 14.1%
- i 5,400 5,600 ~
BER #2114 ’ 3.7% 20.9%
i 5,400 57 —
BER alIET 700 5.6% 16.6%
- 5,960 5.6 —
*E%/E\ EJII*{I- ' 00 -6.0% 16.4%
ey 5,400 5,950 —
— - : 10.2%
d — — - ; 14.1%
REE - 900 11.3% 15.9%
i ' 5,400 il
BEE R il oo 14.1
- AL 6,400 1
*EEI-%/E\ :gﬂ'ﬂ— 6’400 00% 18 40
- = 5,762 57 -
i i 6,600 6 —
=ER 5 B ET 600 0.0% 24.0%
ey i 6,100 6,300 —
— : 3.3%
d o 00 0 19.0%
*E:E’I-%;E\ %_‘EIH]T 77000 ~1.9% 20.69
- = 7,500 7 o
BER JIPaES - 87k 20.3%
ey 8,000 6,900 —
— — : -13.8%
un p— 5300 — 0 22.9%
— 7 -10.6%
un — 5976 — 0 22.6%
— — : -13.7%
— 5200 : 23.5%
- e 7,200 ~14.3% 93 59
EF 9,800 o
. o 8,200 -16.3% 95 79
6,200 i
BB B e el 187"
— 8,297 7,150 =
— — : -13.8%
y— >900 0 22.8%
ﬁﬂﬂi’g\ E N 671 00 3.4% 0,
. - +o50 — 19.0%
— : , 4.0%
5 45 2 Sl 5,600 5,800 0 s
= N : i
—— — o 3.6% 16.5%
o 5 - — 15.1%
3 1 0
— . o 0.0% 16.6%
FHR —— 400 6.1 ;
y— — 11.8%
B = 5,130 0.0% ;
s 5 — — 12.5%
— 0 : 4.6%
o — 0 16.8%
5,500 0.0%
0% 15.5%
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= 8% — 5 &k IR #H

(fRERHHI)

FE7HREM S8 HARMR N IRERFI A LERE (5%)
EERFE L B E L EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

TR HEREKAT 5,290 5,290 0.0% 18.5%
TR ST oq 5,725 5,725 0.0% 16.8%
B3 I 4,950 4,950 0.0% 16.1%
TR &Rt 5,200 5,700 9.6% 16.1%
TR WFH 4,800 5,000 4.2% 13.4%
TR AT 4,800 5,000 4.2% 12.7%
TR KIEH 6,050 6,050 0.0% 16.4%
TR W=biahm 4,934 5,500 11.5% 15.4%
TR BEls T 4,800 5,000 4.2% 12.5%
TR k™ 4,950 4,950 0.0% 13.5%
TR SFAT™ 4,300 4,800 11.6% 12.3%
TR BEEXET 5,810 5810 0.0% 18.4%
FIh IR I 5,280 5,280 0.0% 14.8%
FIh IR i 5,400 5,400 0.0% 15.4%
FIh IR WRE™ 5,350 5,350 0.0% 14.8%
FIhIR FEgg ™ 5,200 5,400 3.8% 15.9%
FIhIR Mg HMS5TH 5,300 5,200 -1.9% 15.7%
FIhR B 5,700 6,000 5.3% 17.4%
FIhR iR 5,400 5,400 0.0% 14.4%
TR TA™ 5,600 5,600 0.0% 17.3%
FIhR t&@E™ 5,700 5,900 3.5% 15.2%
IR AKUEH BT 5,323 5,323 0.0% 13.7%
IR INEET 5,250 5,350 1.9% 14.3%
TR R T 5,730 5,935 3.6% 15.8%
TR KLY 5,850 5,600 —4.3% 16.2%
TR 1y BB T 5,200 5,900 13.5% 19.0%
B 310 RigHt 5,000 5,000 0.0% 15.5%
B 310 KFHT 5,600 6,000 7.1% 18.8%
IR e 4,800 5,300 10.4% 14.3%
B 310 ] 5 BT 5,350 5,350 0.0% 13.8%
IR S AT 5,800 6,512 12.3% 19.0%
IR J\TFARET 5,200 5,300 1.9% 14.3%
B 310 FESHT 5,680 5,750 1.2% 13.7%
B 310 LR HET 5,800 5,800 0.0% 14.4%
IR FIARET 4,650 4,650 0.0% 11.7%
PN FHET 5,281 5,641 6.8% 16.7%
PN BT 5,458 5,550 1.7% 16.3%
PN WA 5,600 5,998 7.1% 15.8%
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F8HME—S5&EMBKRA (RRFHR

FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

WHARR 1E8™ 5,763 5,850 1.5% 17.7%
WHARR geiath 5,500 5,700 3.6% 16.2%
WHARR =i 4,800 4,800 0.0% 15.3%
WHARR NI 6,083 5,741 -5.6% 14.7%
WHARR B 5,607 5910 5.4% 14.7%
PN KHEE 6,300 6,000 -4.8% 17.4%
WHARR KR 6,000 6,000 0.0% 16.1%
WHARR AR IR 5,400 5,400 0.0% 13.8%
WHARR XY 5,275 5,500 4.3% 15.9%
WHARR MAES LT 5,334 5,529 3.7% 16.9%
WHARR TE™ 5,552 5,600 0.9% 14.9%
PN E=)IET 6,249 6,080 -2.7% 16.6%
WHARR 5 FHT 4,561 4,872 6.8% 13.0%
WHARR EARHET 4,641 4,841 4.3% 16.1%
WHARR L=l 5,075 5,500 8.4% 15.6%
WHARR ¥ B Hy 5,300 5,800 9.4% 16.3%
WHARR F AT 4,800 5,500 14.6% 16.1%
WHARR BFARHET 5,300 5,700 7.5% 14.6%
WHARR 1B HET 5,960 6,000 0.7% 16.3%
N = AR R ET 6,000 6,000 0.0% 15.1%
N AR R HT 5,806 5,806 0.0% 15.5%
N AREA ) || ET 5,675 5,700 0.4% 16.8%
HER HItE™ 6,233 6,167 -1.1% 17.3%
HER =T 6,475 6,475 0.0% 16.9%
HER WE™ 6,600 6,600 0.0% 20.9%
BHER REIGT 6,067 6,000 -1.1% 18.8%
HER AHET 5,700 5,892 3.4% 16.3%
HER BET 6,189 6,242 0.9% 20.4%
HER EERATH 5,800 5,800 0.0% 17.3%
HER #ENTH 6,175 6,383 3.4% 17.6%
HER PR 5817 5,875 1.0% 16.9%
HER E R 5,283 5,567 5.4% 15.6%
HER T 5,900 6,400 8.5% 17.0%
HER HEYTH 5,750 5,800 0.9% 18.0%
HER BEA 6,100 6,100 0.0% 17.1%
HER = it ET 6,000 6,200 3.3% 16.4%
HER EEH 6,600 6,600 0.0% 19.8%
HER R AT 6,860 6,625 -3.4% 20.6%
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= 8% — 5 &k IR #H

(fRERHHI)

FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

BHER T{ZHET 5,450 5,700 4.6% 17.6%
BHER EaEen] 5,800 5,800 0.0% 25.5%
BHER H R ET 5,100 5,750 12.7% 13.9%
BHER 2 SEHT 5,200 5,300 1.9% 18.0%
BHER REFIRET 5,200 5,400 3.8% 17.3%
BHER BT 5,700 5,500 -3.5% 16.5%
BHER BEAET 3,300 3,300 0.0% 16.1%
BHER = 5,800 6,000 3.4% 18.2%
BHER REZEHE 5,500 5,700 3.6% 17.8%
BHER F&F 6,510 6,517 0.1% 20.6%
BHER NiEF 6,800 7,600 11.8% 19.2%
BHER ERFDFT 6,851 6,850 0.0% 18.5%
BHER FTE N FBT 5,892 6,558 11.3% 22.1%
BHER EATET 6,870 6,667 -3.0% 14.6%
BHER R ET 5,300 5,300 0.0% 12.4%
BHER BAFOMET 5,800 5,800 0.0% 13.6%
HER T EHET 5975 5,975 0.0% 13.6%
BHER K ERHET 5,980 5975 -0.1% 16.1%
HER =E-3i) 5,500 5,500 0.0% 14.0%
BER AVEEST 5421 6,034 11.3% 17.6%
BER NF40 4,880 5270 8.0% 16.2%
BER nom 5,230 5,907 12.9% 16.5%
BER fTET 5,480 5,600 2.2% 14.1%
BER MR 5,400 5,400 0.0% 19.1%
BER priR ™ 4,973 5,358 7.7% 16.5%
BER ERAET 5,591 5,591 0.0% 14.5%
BER MnZE™ 5,639 6,031 7.0% 15.0%
BER AE™ 5,100 5,200 2.0% 16.2%
BER 2NN 4,900 5,300 8.2% 14.9%
BER Z B 4,980 5,400 8.4% 14.9%
BER il 4,837 4,784 -1.1% 13.7%
BER PE 5,344 5,940 11.2% 15.2%
BER BET 4,800 5,200 8.3% 12.0%
BER tE™ 4,888 5,603 14.6% 15.5%
BER B 4,971 5,400 8.6% 15.9%
BER AT 4,700 5,380 14.5% 15.1%
BEE R 5,615 5,697 1.5% 17.7%
BER FHEM 5,775 6,400 10.8% 16.1%
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= 8% — 5 &k IR #H

(fRERHHI)

FE7HREM S8 HARMR N IRERFI A LERE (5%)
B R B E L EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

BER AR 4,940 4,940 0.0% 16.6%
BER BEm 4,950 5,700 15.2% 16.9%
BER HAR 4,729 4,967 5.0% 15.9%
BER Mt 4,598 5,455 18.6% 11.3%
BER HEET 4,851 5,346 10.2% 16.2%
BER whim 4,500 5,300 17.8% 15.3%
BER AEM 4,802 5161 7.5% 14.6%
BER kAR 4,501 5,002 11.1% 13.8%
BER J\ETH 4,825 4,900 1.6% 14.0%
BER ELTRT 5,144 5412 5.2% 16.4%
BER =4 4,950 5,780 16.8% 15.5%
BER EET 4,621 5,555 20.2% 15.1%
BER wET 4,600 4,600 0.0% 13.6%
BER EFH 4,509 4,722 4.7% 13.6%
BER =T 4,500 4,500 0.0% 12.8%
BER =FSTi 4,700 4,700 0.0% 13.2%
BER I 4,844 4,844 0.0% 13.2%
BER SLAHEHH 4,650 5,250 12.9% 15.9%
BER =] 4,770 4918 3.1% 13.9%
BER REET 4,800 5,500 14.6% 14.0%
BER =FHE] 4,700 5,050 7.4% 13.6%
BER £ = (LIET 4,340 4,600 6.0% 13.2%
BER A BT 5,300 5,650 6.6% 15.3%
BER B)IIET 5,300 5,000 -5.7% 12.5%
BER UL ET 4,500 5,000 11.1% 14.7%
BER N1 ET 5,000 5,000 0.0% 15.3%
BEE NI ST 5,500 5,400 -1.8% 14.0%
BER = RET 5,300 5,600 5.7% 13.4%
BER HE LLIBT 4,000 3,800 -5.0% 11.0%
BEE EEHHHET 5,600 5,500 -1.8% 15.9%
BER 1E AEHT 5,200 5,200 0.0% 16.2%
BER Egadil 5,500 5,500 0.0% 17.9%
BER RARET 5,280 5,000 -5.3% 16.8%
BER /N EFHT 5,990 5,990 0.0% 17.9%
BER R 6,955 6,923 -0.5% 17.4%
BER E3=L) 5,300 5,800 9.4% 14.3%
BER )1 ET 5,500 5,600 1.8% 14.2%
BER L+ EHEy 4,850 4,950 2.1% 12.7%
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F8HME—S5&EMBKRA (RRFHR

FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

BER =EHRHET 4,880 4,980 2.0% 15.4%
BER HFEHE 4,261 4,639 8.9% 14.6%
BER FAMAET 4,740 4,740 0.0% 13.0%
BER RELREMEHEHRE 5,500 5,800 5.5% 16.6%
FER FEH 5,300 5,400 1.9% 17.4%
FER gkFm™ 5,200 5,450 4.8% 18.2%
FER Ml 5,570 5,800 4.1% 17.6%
FER ™ 5,300 5,400 1.9% 18.3%
FER gLl 5,680 5,680 0.0% 20.7%
FER AREES 5,450 5,580 2.4% 17.6%
FER NN 5,500 5,600 1.8% 17.2%
FER BFHE™ 5,190 5,190 0.0% 16.7%
FER EE™ 5,000 5,100 2.0% 16.6%
FER R T 4,800 4,800 0.0% 14.3%
FER Ea™ 4,500 4,950 10.0% 14.0%
FER R&th 5,700 5,600 -1.8% 14.7%
FER fe 5,100 5,400 5.9% 14.7%
FER BEHH 5,381 5,381 0.0% 17.6%
FER fam 5,600 5,600 0.0% 16.2%
FER R 5,300 5,300 0.0% 17.0%
FER mR™ 5,390 5,690 5.6% 16.8%
FER Rt 5,280 5,690 7.8% 17.9%
FER INFRT 4,745 5,180 9.2% 17.1%
FER EB®RFH 5,000 5,000 0.0% 16.0%
FER B Th 6,000 6,000 0.0% 19.6%
FER wramh 5,270 5,500 4.4% 16.5%
FER EET 5,200 5,400 3.8% 16.5%
FER =9=41] 5,700 5,700 0.0% 18.2%
FER ARM 4,980 4,980 0.0% 13.5%
FER OEnE™ 4,700 4,700 0.0% 14.1%
FER /7T 5,060 5,200 2.8% 14.2%
FER ANES ] 5,270 5,270 0.0% 13.4%
FER ENEE™ 4,900 4,700 -4.1% 12.6%
FER mE# 5,600 5,600 0.0% 19.8%
FER mEE™ 5,100 5,400 5.9% 17.6%
FER FEh 5,500 5,500 0.0% 16.0%
FER tiE 5,400 5,400 0.0% 15.5%
FER W &l 5917 5,322 -10.1% 18.1%
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= 8% — 5 &k IR #H

(fRERHHI)

FE7HREM S8 HARMR N IRERFI A LERE (5%)
B R IE Bz 4 EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

FER KB E™ 5,300 5,700 7.5% 15.4%
FER B/ FHET 3,900 3,900 0.0% 12.0%
FER =B 4,900 4,700 -4.1% 11.2%
FER =Fzai 4,600 4,600 0.0% 13.3%
FER SRHT 4,457 4,340 -2.6% 11.1%
FER e T 4,500 5,500 22.2% 19.1%
FER Ea=1:] 4,305 4,700 9.2% 14.7%
FER BREEHET 4,950 5,100 3.0% 15.6%
FER h+HEHET 5,000 5,200 4.0% 15.5%
FER 2 (LT 5,400 5,700 5.6% 15.7%
FER WS ET 4,700 5,200 10.6% 16.6%
FER =11 5,100 5,000 -2.0% 13.9%
FER PN 5,300 5,300 0.0% 15.4%
FER REH 4,600 4,600 0.0% 14.7%
FER =Eal) 5,900 5,900 0.0% 15.9%
FER RARET 5,200 5,300 1.9% 15.5%
FER REET 5,200 5,400 3.8% 17.7%
FER REEHR 5,100 5,400 5.9% 18.4%
FER {1 BT 5,500 5,400 -1.8% 14.7%
FER SREEHET 5,950 7,000 17.6% 20.1%
BRI FRARX 5,300 5,400 1.9% 20.2%
BRI X 5,920 5,920 0.0% 20.1%
BRIRER BX 6,245 6,245 0.0% 20.5%
BRI FEX 6,200 6,400 3.2% 20.3%
BRIRER XEREX 6,017 6,017 0.0% 19.4%
BRI BERER 6,142 6,442 4.9% 21.8%
IR SHEX 6,480 6,390 -1.4% 19.3%
BRIRER IR 5,400 5,800 7.4% 18.4%
BRIRER MBI 5,600 6,100 8.9% 18.7%
IR BEX 6,240 6,200 -0.6% 21.6%
IR KER 6,000 6,000 0.0% 18.2%
BRIRER HEAX 6,450 6,180 -4.2% 21.5%
RIRER AKX 5,960 5,960 0.0% 20.8%
BRIRHD HEFX 5,726 5,726 0.0% 19.3%
BRIRHD i 6,200 6,200 0.0% 20.6%
BRIRHD 25K 6,090 6,200 1.8% 20.2%
RIRER ;X 6,117 6,117 0.0% 21.1%
BRIRHD IR 5,980 6,480 8.4% 18.7%
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= 8% — 5 &k IR #H

(fRERHHI)

FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

RIRED wRIEX 5,933 6,033 1.7% 19.7%
RIRED BERX 6,470 6,600 2.0% 21.5%
RIRED BIRX 6,580 6,760 2.7% 21.2%
RIRED B 6,400 6,710 4.8% 20.0%
RIRED AR 5,400 5,900 9.3% 18.3%
RIRED INEFH 5,408 5,750 6.3% 18.9%
RIRED ST 5,880 5,880 0.0% 19.2%
RIRED HEsh 6,240 6,240 0.0% 19.7%
RIRED = 5,750 5,900 2.6% 19.0%
RIRED HEHeh 5,000 5,300 6.0% 15.4%
RIRED FFeprh 5,708 5,992 5.0% 19.3%
RIRED ™ 6,050 6,280 3.8% 18.4%
R ER EEEin 5,600 5,900 5.4% 20.1%
BRIRER ETE 5,450 5,750 5.5% 18.9%
R ER INEFTH 5,400 5,600 3.7% 19.9%
R ER INETH 5,300 5,800 9.4% 20.2%
R ER BEh 5,480 6,115 11.6% 20.0%
R ER BFTILT 5,750 5,750 0.0% 19.8%
R ER E5Fh 5917 5917 0.0% 19.7%
BRIRER Eih 6,025 6,183 2.6% 20.5%
BRI BET 5,900 6,125 3.8% 15.8%
BRI B 5,950 6,250 5.0% 21.2%
BRI BRI 5,200 5,300 1.9% 19.0%
BRI JEHAT 5,825 6,183 6.1% 21.0%
BRIRER RABK™ 5,400 5,900 9.3% 19.1%
BRIRER B AL 5,392 5,533 2.6% 15.2%
IR ZEM 4,808 5,200 8.2% 14.2%
BRIRER Faw 5,200 5,400 3.8% 14.8%
BRIRER PR LS 4,800 5,100 6.3% 15.4%
BRIRHD HELHHM 5,200 5,750 10.6% 15.6%
IR FEERRM 6,367 6,050 -5.0% 21.1%
BRIRED I AR HT 5,550 5,550 0.0% 15.2%
RIRER B o ET 5,500 5,500 0.0% 15.9%
BRIRHD ERA 6,300 7,900 25.4% 15.4%
BRIRHD B & R T 6,300 6,783 7.7% 19.6%
BRIRHD KEHT 5,400 5,700 5.6% 19.4%
BRIRHD FEH 7,500 7,900 5.3% 18.3%
BRIRHD e 6,200 7,300 17.7% 21.6%
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F7HREHE FESHARIR I RIRF E AL (%)
. HE% % HE% % \ 3= SEERTo R
EIERFE 4 Big=E 4 HELFE(A%) HEFE(A%) DEUE ENERER
(M) (M) (%) | SFI2FE12A KRR
B AR mEEN 6,500 6,500 0.0% 21.0%
B AR ==H& 5,832 5,850 0.3% 19.5%
B AR A=) 4,800 4,800 0.0% 8.9%
B AR J\SCHT 5,883 5,925 0.7% 19.5%
B AR HFyBF 8,700 9,800 12.6% 13.9%
B AR INERFF 3,374 3,374 0.0% 14.8%
pi:ESJN]I=Y WE™ 6,200 6,500 4.8% 18.5%
wmE)NE NN 5,825 6,315 8.4% 19.2%
wmE)E HBER™H 5,800 6,000 3.4% 17.6%
wmE)E BEET 5,500 5,800 5.5% 18.1%
riE=J )= iR 5277 5513 4.5% 16.0%
;)8 et 5,464 5,500 0.7% 20.2%
piE-J]1= iR 4,700 5,500 17.0% 18.6%
wmE)E INARTH 5,060 5,060 0.0% 17.0%
wmE)E F & 4,880 4,980 2.0% 16.6%
ri: eI EFmH 5,810 5,810 0.0% 21.3%
wmE)E =T 5716 5,885 3.0% 19.3%
wmE)E ZHH 5,390 5,390 0.0% 14.3%
HW)IE |EW N7 5,385 5,453 1.3% 14.2%
pi:E=J )= X#nmh 5,699 5,835 2.4% 17.7%
wmE)|8 FEEST 5,200 5,500 5.8% 16.0%
wmE)|8 BEA™ 5,120 5,180 1.2% 15.3%
wmE)|8 235k 5,212 5,500 5.5% 16.1%
wmE)R M R™ 4,700 5,075 8.0% 15.6%
wmE)R ™ 4,857 5212 7.3% 15.5%
wmE)E = | LT 4,800 4,900 2.1% 17.4%
g E-J]1= I /T 5,140 5,100 -0.8% 14.7%
mE)E KHEET 5,700 5,300 -7.0% 16.3%
mE)E — = 4,450 4,700 5.6% 16.6%
wmE)E b H-ET 5,383 5,739 6.6% 14.2%
mE)E R FHET 4,800 4,800 0.0% 12.6%
g E-J]1= Nzl 5,100 5,100 0.0% 15.4%
wmE)E 1TEd:) 5,530 5,580 0.9% 18.0%
ri: e =} Elpd:ig 5,360 5,400 0.7% 16.2%
ri: e =} FEIRET 5,900 6,200 5.1% 16.4%
ri: e =} HEEHT 5,700 5,800 1.8% 16.5%
ri: e =} 3% m R ET 4,700 5,500 17.0% 16.1%
ri: e Y=} Z I /T 5,200 5,400 3.8% 14.3%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

AR FEINF 5,367 5,895 9.8% 13.8%
iRR Hiatm 6,353 6,641 4.5% 19.1%
iRR R 5,967 5,842 -2.1% 17.5%
IRl =%t 5,408 5819 7.6% 16.1%
iRR raugTH 5,933 5933 0.0% 20.1%
iRR PHRET 5,800 5,950 2.6% 18.7%
iRR INFBTH 5,425 5,500 1.4% 15.6%
iRR mEh 6,050 6,050 0.0% 17.8%
iRR +BETH 6,200 6,000 -3.2% 19.7%
iRR Rt 5,800 5,900 1.7% 17.6%
iRR HETH 5,900 6,300 6.8% 17.7%
WiRR e 6,300 6,300 0.0% 18.6%
HiRR RAm 5,690 5,400 -5.1% 18.1%
HiRR wETh 6,900 6,900 0.0% 19.7%
HiRR HER™ 6,716 6,300 -6.2% 19.1%
HRE E#h 6,483 6,683 3.1% 20.5%
HiRR B % BF v 6,486 6,486 0.0% 17.6%
HiRR 1EiET 6,200 6,200 0.0% 22.6%
HiRR i3t 6,380 6,380 0.0% 19.0%
HiRR [Eap:82n T 6,351 6,410 0.9% 19.4%
HRR fam™ 5,923 6,473 9.3% 18.0%
HiRR EOZEMT 6,600 6,600 0.0% 16.1%
HRR IREF 6,400 6,400 0.0% 15.9%
HiRR 2l 6,000 6,000 0.0% 16.9%
HiRR e 25 ET 6,200 6,200 0.0% 22.2%
HRR H E IR ET 5,885 5,700 -3.1% 18.3%
HRg iR ET 5,200 5,200 0.0% 12.7%
HRg R 6,400 6,400 0.0% 22.2%
HRR PURPES 6,100 6,300 3.3% 15.7%
HRR ESINES) 7,000 7,000 0.0% 18.6%
HiRR RERA 6,300 7,000 11.1% 24.4%
EILE B 6,300 6,600 4.8% 19.4%
EILE = [ 5,727 6,494 13.4% 19.6%
AT y::B= ] 6,057 6,495 7.2% 19.1%
SR KR 5576 5,578 0.0% 20.0%
EILE BN™ 5,700 5,741 0.7% 17.3%
SR gtk 6,163 6,163 0.0% 17.7%
EILR PR TR E S 6,262 6,262 0.0% 17.4%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

EILE R AN R REAES 5,980 6,100 2.0% 18.6%
EILE RN R 7~ 1T LEBRMS 5,600 5,600 0.0% 18.2%
AR &iR™ 6,590 6,590 0.0% 19.0%
AR tE 6,400 6,400 0.0% 18.1%
AR INATH 6,300 6,300 0.0% 17.0%
AR b S 5,920 6,250 5.6% 19.4%
AR BRim 6,400 6,400 0.0% 18.4%
AR mEM 6,300 6,400 1.6% 15.2%
BIE T 5,900 5,900 0.0% 18.1%
AR NEXG 5,900 5,900 0.0% 16.7%
BIE Bl 6,220 6,220 0.0% 16.9%
AR ResEm™ 6,600 6,600 0.0% 16.5%
BIE o 6,100 6,100 0.0% 14.6%
AR JNIIFLET 5,800 5,800 0.0% 17.6%
BIE EEET 5,700 5,700 0.0% 15.7%
BIE R ET 5,800 5,800 0.0% 15.0%
BIE HEE 6,000 6,000 0.0% 17.2%
BIE = E R KET 6,400 6,400 0.0% 17.5%
BIE thBE X ET 6,400 6,400 0.0% 18.7%
BIE 7K HET 6,400 6,400 0.0% 19.3%
BIE BEBHT 5,800 5,800 0.0% 14.6%
BHE BHMm 6,300 6,600 4.8% 18.3%
BHE BE™ 6,050 6,300 4.1% 18.8%
BHE INET 6,270 6,540 4.3% 18.5%
BHE REh 6,000 6,000 0.0% 18.8%
fBHE LT 5,900 5,800 -1.7% 17.7%
BHE &I 5,650 5,650 0.0% 15.8%
BHE AT 5,890 5,890 0.0% 16.2%
BHE K BT 6,100 6,400 4.9% 19.8%
BHE jth FET 5,500 6,100 10.9% 19.5%
BHE R RS AT ET 6,200 6,200 0.0% 16.8%
BHE HAAITHET 5,990 5,990 0.0% 15.1%
BHE ERET 6,000 5,800 -3.3% 17.2%
BHE =T 5,800 5,500 -5.2% 17.5%
BHE HHUET 6,200 6,200 0.0% 18.4%
BHE 5 BRET 6,160 6,600 7.1% 19.1%
BHE WRH MR LIES 6,000 6,200 3.3% 16.9%
IR B 6,482 6,482 0.0% 19.8%
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's?f%'?,ﬁ.ﬂﬁ':[!ﬁ*i %ﬁ&ﬁ.ﬂﬁéﬂﬁﬂ 1%@*4%%55 (f“é%) N
EIERFE 4 Big=E 4 HELFE(A%) HEFE(A%) DEUE ENERER
(M) (M) (%) | SFI2FE12A KRR
Y=Y EtrHAET 5,290 5,600 5.9% 13.3%
Y=Y B 5,683 5,683 0.0% 16.0%
Y=Y WEH 6,670 6,270 -6.0% 16.2%
Y=Y XKA™ 5,400 5,600 3.7% 15.9%
Y=Y FEGTH 5,128 5133 0.1% 13.8%
Y=Y Bm7ITAT 6,100 5,900 -3.3% 15.3%
IFLIE ettvh 4,300 4,600 7.0% 13.0%
IFLIE REH 5,200 5,000 -3.8% 13.4%
IFLIE HWRTh 6,567 6,000 -8.6% 15.6%
IFLIE LEES 5,300 5,100 -3.8% 16.6%
IFLIE BN T 5,967 5,960 -0.1% 16.1%
IFLIE h&m 5,500 5,500 0.0% 11.3%
ILFLIE )11 = $ERET 6,300 6,300 0.0% 15.2%
ILFLIE I=N]1:g 5,900 5,900 0.0% 18.8%
ILFLIE BIERT 6,597 6,600 0.0% 20.6%
ILFLIE FAERET 5,800 5,800 0.0% 17.6%
ILFLIE E1JIET 6,250 6,200 -0.8% 16.8%
ILFLIE FEFNET 5,500 5,300 -3.6% 12.9%
ILFLIE EE 6,000 6,000 0.0% 12.4%
IELIE FoFEHT 5,085 5,400 6.2% 14.9%
IELIE FE AT 4802 4,802 0.0% 11.2%
Y=Y (I==F5:E Sy 5,600 5,200 -7.1% 10.7%
IELIE &R #F 4,800 5,400 12.5% 11.7%
Y=Y =1 O 5,370 5,720 6.5% 13.9%
Y=Y INEFF 5,700 7,000 22.8% 16.4%
Y=Y FHE LAt 5,400 6,000 11.1% 18.1%
RHE EH™ 5,670 5,670 0.0% 18.6%
RHE WA 5,890 5,890 0.0% 18.9%
RHE AT 5,902 5,902 0.0% 18.7%
RHE fRE™ 6,088 5,980 -1.8% 18.7%
RHE Al 5,040 4,850 -3.8% 14.2%
RFE INEETH 5,320 5,320 0.0% 13.7%
RHE FIH 5,480 5,480 0.0% 16.0%
RHE EnviBh 5,600 5,600 0.0% 14.3%
RHE h ¥ 5,715 5,615 -1.7% 16.7%
RHE fRiLTH 5,758 5,998 4.2% 19.0%
RHE ERT 5,100 5,450 6.9% 17.6%
RHE EAT 5,650 5,650 0.0% 15.7%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EERFE L Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

RHE Fehth 5,150 5,150 0.0% 16.2%
RHE R 5,550 5,550 0.0% 16.3%
RHE TEHH 5,700 5,800 1.8% 17.5%
RHE INBET 5,740 6,000 4.5% 16.9%
RHR N+ 5,225 6,650 27.3% 16.3%
RHE EaEen] 6,393 7,000 9.5% 16.4%
RHER M AH 5,600 6,000 7.1% 21.6%
RHER JEAEARF 6,300 6,800 7.9% 22.5%
RHER & ATERT 5,600 5,900 5.4% 17.5%
RHER 82 FIRET 4,800 4,800 0.0% 11.8%
RHFE {H4X B ET 4,610 4,610 0.0% 11.3%
RHER 37 FET 6,300 6,950 10.3% 17.0%
RHE FARH 6,000 6,000 0.0% 19.3%
RHE RFNET 5,700 6,000 5.3% 21.0%
RHE J= EFET 5,000 5,000 0.0% 15.6%
RHE HoHHET 5,000 5,000 0.0% 13.9%
RHFE Bk SET 5,600 5,600 0.0% 14.9%
RHE mE 5,230 5,230 0.0% 14.1%
RHE S YNES) 6,000 6,400 6.7% 16.1%
RHE EEM 5,700 6,000 5.3% 13.7%
RHE Ly 4,900 5,400 10.2% 15.5%
RER = AR AT 5,750 5,600 -2.6% 14.9%
REFR Be] e T 6,800 6,900 1.5% 19.5%
REFR Be] &8 6,175 6,175 0.0% 18.1%
RHE FaF 5,000 5,000 0.0% 20.7%
REFR RS 5,100 5,500 7.8% 19.6%
RHE TER 5,740 6,024 4.9% 19.8%
REFR FEARKS 6,100 6,800 11.5% 19.5%
REFR KEest 5,000 5,000 0.0% 21.6%
RER REF 4,900 4,900 0.0% 15.3%
REFR BARF 5,900 5,750 -2.5% 16.0%
REFR 2R 5,650 5,950 5.3% 16.0%
RER KEH 5,000 5,000 0.0% 14.3%
REFER AT 6,600 6,500 -1.5% 22.9%
RHE A IRA 5,700 6,700 17.5% 18.0%
RHE LRz 4F 5,990 5,700 -4.8% 13.9%
REFER e 5,500 7,000 27.3% 16.9%
RHE AL 6,900 6,700 -2.9% 17.1%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

RHE YRk T 5,100 5,000 -2.0% 15.2%
RHE INF T 5,100 5,000 -2.0% 13.7%
RHE &= LA 5,180 5,100 -1.5% 15.3%
RHR 1L/ R ET 5,400 5,400 0.0% 18.7%
RHE REFH 5,500 5,600 1.8% 16.1%
RHE BIRRRA 5,800 5,400 -6.9% 16.1%
RHER 15 RHET 4,600 4,600 0.0% 14.4%
RHER INF 6,300 6,300 0.0% 19.3%
RHER B A ET 4,850 4,850 0.0% 15.1%
RHER FFt 5,500 5,700 3.6% 20.1%
RHER XT7INTRGEES 5,700 5,800 1.8% 16.1%
RHER RELEBES 5,800 5,400 -6.9% 15.5%
RHE MALBES 5,350 5,450 1.9% 17.5%
iz B2 1R I BB 7 6,580 6,700 1.8% 20.3%
iz B2 1R KiETH 5,820 5,960 2.4% 17.3%
iz B2 1R =G 5,520 5,750 4.2% 18.4%
iz BB 18 ZAaR™ 5,950 5,950 0.0% 15.1%
iz 2 1R B 5,700 5,700 0.0% 15.8%
iz 2 1R diE I 5,300 5,800 9.4% 17.5%
sz & 1 Xirm 5,400 5,400 0.0% 15.6%
sz & 1 IR 5,090 5,090 0.0% 15.2%
sz & 1 PE™ 5,800 6,000 3.4% 15.7%
sz & 1 B 5,825 5,950 2.1% 17.5%
sz & 1 EiRmzkE 5,400 5,600 3.7% 15.8%
iz 2 1R T 6,154 6,200 0.7% 16.6%
sz & 1 &R T 4,900 5,400 10.2% 15.8%
sz & 1 AR 5,500 5,700 3.6% 15.8%
sz & 1 IR 5,150 5,800 12.6% 15.0%
sz & 1 REET 5,710 5,710 0.0% 18.7%
iz BB 18 ML 4,800 4,800 0.0% 18.6%
sz & 1 Tam 4,600 4,600 0.0% 17.6%
sz & 1 g™ 6,100 6,200 1.6% 15.3%
iz BB 18 B 7 T 5,900 6,290 6.6% 18.0%
sz B 1 55 pRET 5,850 5,850 0.0% 17.0%
Iz B 18 EEHT 5,950 6,240 4.9% 17.0%
sz B 1 = HHT 5,800 6,150 6.0% 15.1%
Iz B 18 87 IR BT 5,900 6,100 3.4% 16.9%
Iz B 18 YR AT 5,200 5,200 0.0% 13.4%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

Faf 2 75 {F = BT 7,000 6,500 -7.1% 16.4%
Faf 2 BT 5,263 5,000 -5.0% 12.9%
Faf 2 EKET 4,900 5,100 4.1% 14.7%
Faf 2 RRET 5,100 5,200 2.0% 15.3%
Faf 2 N ET 6,200 6,200 0.0% 17.2%
Faf 2 = HET 4,800 5,000 4.2% 13.4%
FoheE IR NIAR AET 5,600 5,600 0.0% 19.0%
FoheE IR FRET 6,850 6,300 -8.0% 16.5%
EHE £EET 6,391 6,642 3.9% 19.9%
EHE Fe] U5 7 5,390 5,700 5.8% 15.6%
EHE —amh 5,350 5817 8.7% 16.3%
EHE HE™ 5,627 5322 -5.4% 16.1%
EHE FEH 5,480 5,600 2.2% 17.0%
EHE ERHM 5,777 5,794 0.3% 16.6%
EHE ZET 5,600 5,600 0.0% 16.1%
EHE 2 4,860 5,300 9.1% 15.9%
EHE PR 5,200 5,200 0.0% 15.8%
EHE ZHET 5,200 5,500 5.8% 15.0%
EHE T 5,290 5,290 0.0% 14.3%
EHE FEE™ 5,200 5,300 1.9% 14.8%
EHE K 4,783 4,783 0.0% 15.1%
EHE gt 5,400 5,600 3.7% 17.2%
EHE I 5,033 5,349 6.3% 15.0%
EHE INE T 4,309 4,309 0.0% 13.1%
BHE NG 7] 4,800 4,900 2.1% 15.6%
EHE y3IKVA o} 4,650 4,650 0.0% 13.7%
TR EiRE™ 4,990 4,990 0.0% 15.3%
TR ISP 5,700 5,820 2.1% 16.9%
BHE E=p-1i7] 4,953 4,996 0.9% 15.3%
BHE ZH 5,515 5,675 2.9% 15.3%
TR B 5,363 5,363 0.0% 16.0%
TR EFE™ 5,100 5,500 7.8% 15.4%
TR =il 5,181 5,939 14.6% 15.8%
TR dteaEETh 4,650 4,865 4.6% 14.8%
BHE WRET 5,540 6,050 9.2% 16.0%
TR HLLTH 4,040 4,600 13.9% 13.1%
BHE HEM 5,200 5,400 3.8% 16.7%
TR RAFM 5,345 5,345 0.0% 14.5%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)

SBRFE 4, BiRE L HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

pap il BRIERET 4,997 5,596 12.0% 15.4%
pap il 2187 5,300 5,300 0.0% 15.2%
TR yNul:) 4,041 4,596 13.7% 11.9%
TR FRERHET 4,511 4,711 4.4% 15.5%
TR KaH 5,200 5,700 9.6% 16.0%
TR 22 THT 5,500 5,700 3.6% 15.5%
EHE mEF 6,350 6,350 0.0% 15.1%
EHE Bl A LLET 4,780 4,780 0.0% 13.5%
EHE EpiEZ:) 5,000 5,000 0.0% 15.2%
EHE ERET 5,100 5,100 0.0% 15.4%
EHE R 4,960 4,960 0.0% 12.9%
EHE SEEHHAT 4,300 4,800 11.6% 13.3%
EHE MZIELIES 5,073 5,533 9.1% 16.8%
EHE R=EALEES 4,906 4,990 1.7% 15.6%
=ER = A7) 6,456 6,456 0.0% 21.4%
== =N 7] 5,560 5,560 0.0% 15.3%
== RE™ 6,027 6,318 4.8% 20.7%
== KRR T 6,640 6,730 1.4% 22.7%
== f4™ 5,542 5,651 2.0% 13.8%
=558 e 6,300 6,500 3.2% 17.3%
=558 ERh 6,950 6,770 -2.6% 19.2%
=88 LWV 6,050 6,050 0.0% 15.7%
=558 HET 6,740 6,740 0.0% 20.4%
=B8R FRET 6,524 6,524 0.0% 20.5%
=558 K& R ET 5216 5,831 11.8% 11.8%
=558 REHRT 4,746 4,649 -2.0% 11.0%
=88 PR EFHT 5,740 5,740 0.0% 15.2%
=58 ZRHT 5,200 5,200 0.0% 14.7%
=88 J1 [ ET 5,450 5,450 0.0% 13.1%
=58 % ST 6,450 7,150 10.9% 21.2%
== BAFNET 6,641 6,736 1.4% 19.8%
== KEH 7,400 7,600 2.7% 21.7%
=88 AT 6,260 6,260 0.0% 17.5%
=55 & HT 6,300 6,400 1.6% 17.7%
=855 KiCHT 6,300 6,400 1.6% 20.3%
=55 RS 5,600 6,100 8.9% 20.6%
=55 feALLEES 6,205 6,396 3.1% 21.7%
=855 AN ERRLEES 6,668 6,890 3.3% 23.6%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
HERFIE & Bz 4 EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

=558 HEe LK EEES 5,781 5,781 0.0% 17.1%
HER KiEMH 6,350 6,350 0.0% 18.9%
HER ER 5,860 6,000 2.4% 18.0%
HER RiE™ 6,570 6,570 0.0% 19.4%
HER VT \ g 5,400 5,400 0.0% 14.7%
HER BEM 5,900 6,498 10.1% 16.9%
HEE Sl 5,900 5,900 0.0% 16.5%
HEE HEW 5,940 5,940 0.0% 17.9%
HEE Bt 5,980 6,470 8.2% 17.4%
HEE Hm™ 5,396 6,110 13.2% 14.3%
HEE =5m 5,800 5,800 0.0% 20.0%
HEE RitiImH 5,200 5,200 0.0% 15.7%
HEE KEH 5,900 6,790 15.1% 19.7%
HEE EER™ 5,890 6,300 7.0% 15.3%
HEE B ST 6,200 6,200 0.0% 16.3%
HEE = AT 5,900 6,200 5.1% 16.7%
HEE AT 5,500 5,800 5.5% 16.7%
HEE S ERET 6,480 6,400 -1.2% 19.4%
HEE B RHET 6,800 6,900 1.5% 19.1%
HER ZHHT 6,100 6,100 0.0% 14.3%
RERRT RETH 6,600 6,800 3.0% 23.2%
RERRT BAILT 5,983 5,983 0.0% 21.7%
RER AT £33 0] 5,488 5,986 9.1% 20.3%
RERRT fEET 6,202 6,202 0.0% 19.9%
RER AT FaT 5,198 5,669 9.1% 19.2%
RER AT =9=411] 6,980 6,672 —4.4% 26.3%
RERAF BRE™ 5,196 5,196 0.0% 15.9%
RER AT Wi 5,098 5,098 0.0% 15.7%
RERRT mBEm 5471 5,821 6.4% 18.8%
RERRT RERMT 6,180 6,180 0.0% 20.6%
RERAF J\IET 5,250 5,567 6.0% 19.3%
RER AT RHEAAH 5,394 5,394 0.0% 17.4%
RERAF RFt&EH 5,805 5,979 3.0% 20.9%
RER KT mfth 6,360 6,360 0.0% 21.9%
RER KT KiENH 5,300 5,800 9.4% 17.3%
RER KT KL BT 5,615 6,180 10.1% 19.0%
RER KT AL ET 5,591 5,786 3.5% 18.7%
RER T FHFHT 5,375 5,823 8.3% 20.4%
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FE7HARRN SE8HARMR A RERA EAELE (%)
EIERFE 4 Big=E 4 EAELE(A%E) EAELE(A%E) DEUE ENERER
(M) (M) (%) | FF2F12 A RFFR

RERFF =& H R AT 5417 5317 -1.8% 16.8%
TRERFF BT 6,640 6,970 5.0% 21.4%
REBAT FOE AT 6,200 7,600 22.6% 21.3%
TRERFF FEEHT 5,950 5,950 0.0% 16.8%
REBAT ma LA 4,830 6,200 28.4% 23.0%
REBAT RFHRAT 6,117 6,117 0.0% 17.9%
TRERFF {FARET 6,190 6,271 1.3% 27.2%
TRERFF 5 S EFET 6,000 6,000 0.0% 23.8%
KB FF yN i 7,927 8,094 2.1% 26.2%
KB FF R 6,623 6,790 2.5% 23.9%
KB FF FFRET 6,183 6,375 3.1% 20.9%
KB FF L 6,208 6,367 2.6% 23.0%
KB FF AT 5,950 5,960 0.2% 19.6%
KB FF W ETH 5,900 5,980 1.4% 18.9%
KB A RKEM 5,700 5,876 3.1% 17.0%
KB FF =Y 5,083 5,600 10.2% 17.9%
KB A Higth 6,169 6,169 0.0% 23.0%
KB FF wAT™ 5610 5,902 5.2% 18.7%
KB FF RAT 5,300 5,990 13.0% 17.5%
KB FF V= 6,092 6,556 7.6% 22.8%
KR FF RIEFH 6,500 6,650 2.3% 22.7%
KB FF EHE#H 6,715 6,730 0.2% 21.4%
KB AF BRI 6,210 6,390 2.9% 18.8%
KR FF ARNREH 5,800 5,840 0.7% 19.3%
KR FF NG 6,040 6,550 8.4% 21.5%
KR FF KE™ 6,380 6,420 0.6% 17.9%
KR AT R 5,743 6,159 7.2% 18.3%
KR AT Emm 5,700 5,400 -5.3% 16.1%
KB AF R 6,407 6,102 -4.8% 19.6%
KB FF HREH 6,158 6,123 -0.6% 19.8%
KR AT BiEm 5,790 6,280 8.5% 18.3%
KB AF =YDl 6,333 6,137 -3.1% 22.1%
KR AT EHF™ 6,200 6,000 -3.2% 19.5%
KR AT E PN 6,594 7,029 6.6% 23.6%
KR AT SREATH 6,070 6,250 3.0% 19.5%
KR AT xEHm 5,360 5,360 0.0% 17.8%
KR AT RBR$E LT 6,211 6,190 -0.3% 19.4%
KR AT PR 5,900 6,200 5.1% 19.9%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

KBRAF B AHT 5,450 5,900 8.3% 16.9%
KBRAF L HEAT 5412 5,550 2.5% 16.6%
KBRAF HEZAET 5,938 5,938 0.0% 17.5%
KBRAF 8 [ T 6,557 6,410 -2.2% 20.8%
KBRAF RE HR T 6,057 6,321 4.4% 18.9%
KBRAF FA L BT 6,750 6,750 0.0% 22.9%
KBRAF WA ET 6,000 6,000 0.0% 25.0%
KBRAF XFHT 6,150 6,480 5.4% 16.9%
KBRAF 7] e T 5,795 6,070 4.7% 18.9%
KBRAF F R IR 5811 4,390 -24.5% 14.4%
KBRAF KT DELREES 6,748 6,748 0.0% 21.6%
EER wE™ 6,260 6,400 2.2% 20.9%
EER SRR TH 6,000 6,200 3.3% 22.2%
EER B 6,412 6,609 3.1% 22.5%
EER BAET 5,870 5,870 0.0% 18.8%
EER mEh 5,600 5,600 0.0% 18.7%
EER AT 5,850 5,950 1.7% 21.0%
EER EEt 5,490 5,740 4.6% 19.9%
EER FAH 5,200 5,200 0.0% 19.6%
EER HE™ 5,000 5,000 0.0% 17.2%
EER Atil] 6,150 6,150 0.0% 18.4%
EER maEm 5,200 5,200 0.0% 18.5%
EER FREET 5,100 5,400 5.9% 20.5%
EER i) 6,200 6,500 4.8% 20.0%
EER E$41] 5,892 5,892 0.0% 20.7%
EER =K 5,200 5,000 -3.8% 16.5%
EER =1 0h 5,900 5,900 0.0% 20.6%
EER Ni#E™ 4,690 5,200 10.9% 18.9%
EER N 5,500 5,800 5.5% 17.4%
EER =HEm™ 5,621 5,621 0.0% 17.3%
EER meET 6,200 6,300 1.6% 20.1%
EER FHE BT 5,880 6,380 8.5% 18.9%
EER BERH 7,000 6,950 -0.7% 22.1%
EER FHE™ 5,890 5,940 0.8% 20.2%
EER E3LaY eVt 5,300 5,300 0.0% 19.6%
EER gk 6,580 6,000 -8.8% 22.0%
EER R 5,800 5,800 0.0% 19.7%
EER REM 6,700 6,700 0.0% 20.7%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

EER E 5,900 5,900 0.0% 17.2%
EER =2 mH 5,700 5,700 0.0% 18.6%
EEE ¥&4 )BT 5,400 5,400 0.0% 16.1%
EEE % m[ AT 6,000 6,400 6.7% 19.0%
EEE RS AT 5,000 4,800 -4.0% 15.1%
EEE FEEEHT 5,500 5,500 0.0% 17.9%
EER iIIET 5,600 6,000 7.1% 17.5%
EER 1R ET 5,780 6,160 6.6% 17.3%
EER e AT 5,800 5,900 1.7% 19.6%
EER AFHET 5,350 6,300 17.8% 16.5%
EER £ ERET 6,000 6,000 0.0% 17.5%
EER 1 FRET 6,900 6,900 0.0% 24.0%
EER FEHT 5,583 5,329 -4.5% 20.2%
EER #7i8 RET 5,260 5,260 0.0% 19.5%
=RE =R 5,844 5,967 2.1% 19.8%
=RE KfEE™T 5,960 6,300 5.7% 19.5%
=RER RFEB LT 5,800 6,200 6.9% 20.2%
=RE XEH 6,280 6,770 7.8% 21.0%
=RE BIR™ 4,522 4818 6.5% 16.4%
=RE P 6,000 6,300 5.0% 19.2%
=RER FE™ 6,450 6,600 2.3% 22.8%
=RE HAR™ 6,500 6,500 0.0% 22.1%
=RE 4B 5,200 5,300 1.9% 14.2%
=RE Fzmh 4,800 4,900 2.1% 15.2%
=RE BWh 5,960 6,200 4.0% 18.5%
=RER Fpeth 6,600 6,800 3.0% 20.2%
=RE LA 5,900 5,900 0.0% 19.6%
=RE FEREET 5,186 4817 -7.1% 17.4%
=RE = JERHET 5,430 5,880 8.3% 17.3%
=RE BEfSHET 5116 5,140 0.5% 18.8%
=RE & LEHT 6,580 6,400 -2.7% 16.1%
=RE JII PG ET 5017 5,630 12.2% 18.0%
=RE =EH 5,600 6,000 7.1% 17.0%
=RE A R A BT 6,100 6,100 0.0% 16.1%
=RE SR A 5,800 6,300 8.6% 21.2%
=RE S N) 6,300 7,300 15.9% 23.9%
=RE = ER AT 6,000 6,000 0.0% 23.5%
=RE BH B &4t 5,600 5,600 0.0% 19.5%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
HERFIE & Bz 4 EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

=RE 44T 5,000 5,300 6.0% 17.5%
=RE T FAET 5,600 5,600 0.0% 18.3%
ZRER INzi) 5,200 5,600 7.7% 15.7%
ZRER SATEET 5,100 5,100 0.0% 18.3%
ZRER = EPET 6,100 6,100 0.0% 22.8%
=RE KieET 6,500 6,500 0.0% 18.5%
ZRER i) 6,500 5,800 -10.8% 23.0%
ZRER RER 7,700 6,500 -15.6% 19.6%
ZRER FINF 7,500 7,500 0.0% 26.4%
ZRER SRR 5,800 6,345 9.4% 25.1%
ZRER +iENIF 6,750 6,750 0.0% 26.2%
Z=RER TAb 6,125 6,550 6.9% 26.7%
=RE iEAlIED) 7,000 7,000 0.0% 22.7%
=RE N E# 4,900 4,600 —6.1% 21.7%
=RER REFH 6,850 7,600 10.9% 24.8%
ML FFrlth 6,600 6,600 0.0% 23.6%
ML #wr™ 6,667 6,244 -6.3% 20.3%
ML BA™ 6,630 6,300 -5.0% 19.5%
ML FHE™H 6,400 6,400 0.0% 17.9%
LR EHLhH 6,520 7,500 15.0% 24.5%
MR A 6,570 6,958 5.9% 24.0%
MR HEm 6,820 6,600 -3.2% 21.7%
MR "ollm 6,666 6,500 -2.5% 22.1%
LR F=fanhii] 5,590 6,020 7.7% 16.4%
LR HoEErHT 6,780 7,020 3.5% 23.7%
LR MDLEHET 7,650 6,850 -10.5% 20.9%
LR JUEELLIET 6,480 5,780 -10.8% 17.9%
LR = ErET 6,886 6,780 -1.5% 22.2%
MR ik ET 6,400 6,400 0.0% 19.3%
IS [& )BT 6,500 6,500 0.0% 17.1%
MR AHJIE 6,200 6,200 0.0% 19.5%
LR e 5,880 5,880 0.0% 17.6%
IR ==ty 6,600 6,300 —4.5% 22.2%
AR R RHET 6,440 6,800 5.6% 20.3%
AR FN R ET 5,814 5,800 -0.2% 15.6%
LR HTE~HET 7,700 6,975 -9.4% 20.6%
AR B &= IET 5,710 6,500 13.8% 22.0%
ML =Py 6,575 6,900 4.9% 21.3%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

E/TIT S L E=EHET 7,829 7,375 -5.8% 21.9%
E/TIT S AT 6,075 5,900 -2.9% 22.0%
E/TIT S PR %5 R AT 5,937 5,950 0.2% 21.0%
E/TIT S X Hh BT 5,800 6,800 17.2% 20.4%
E/TIT S )| ET 5,800 5,500 -5.2% 22.9%
E/TIT S Je st 5,200 5,500 5.8% 30.3%
ILg & A HT 5,731 6,200 8.2% 24.6%
EmE BEh 6,500 6,333 -2.6% 19.7%
EmE XFh 6,480 6,480 0.0% 20.4%
EmE BEm 6,392 6,392 0.0% 18.0%
EmE EHEm 6,378 6,378 0.0% 20.4%
SR BT 7,056 6,432 -8.8% 21.2%
SR =) 6,500 6,500 0.0% 21.3%
SR ZTEET 6,100 6,100 0.0% 16.7%
SHE J\BEET 6,900 6,900 0.0% 20.2%
SR =BRHET 6,700 6,700 0.0% 20.7%
SR P ] 6,000 6,200 3.3% 18.0%
SR 2T 6,000 5,700 -5.0% 16.2%
SR Jb R ET 5,760 5,760 0.0% 14.4%
SR K ILIET 6,946 6,946 0.0% 19.2%
SHER A ma T 5,700 5,700 0.0% 23.1%
EmE B 27 ET 7,459 6,859 -8.0% 20.8%
EmE L RTET 6,800 7,200 5.9% 23.0%
SHE FEENELEES 5917 5,804 -1.9% 17.7%
SRR WiTH 6,343 6,554 3.3% 20.5%
SRR HER 6,260 6,260 0.0% 20.6%
SRR #mET 5,950 6,000 0.8% 20.6%
SRR KET 6,500 6,900 6.2% 22.8%
SRE ZXh 6,000 6,300 5.0% 20.3%
SRE EFNEFET 5,396 5,394 0.0% 24.5%
SRR 1] 6,100 6,600 8.2% 22.2%
SRE BEMREEHHES 6,760 6,650 -1.6% 21.6%
SRR EAMRRETHRES 6,980 6,600 -5.4% 23.0%
EiRE ERLEES 5,900 5,900 0.0% 19.5%
EiRE PRk R E S 6,550 6,550 0.0% 21.7%
fel L2 R Ll 6,160 6,640 7.8% 21.4%
R LE =L 4] 6,050 6,250 3.3% 21.6%
fel L2 FE™ 5,900 6,000 1.7% 20.1%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EIERFE 4 Big=E 4 HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

e 1L 2 EHH 6,000 6,000 0.0% 19.8%
e 1L 2 T 6,420 6,000 -6.5% 21.3%
e 1L 2 FR™ 5,900 6,300 6.8% 21.4%
e 1L 2 fatt 5,400 5,700 5.6% 18.8%
e L2 SE 6,300 6,600 4.8% 23.4%
e L2 MR™ 6,000 6,000 0.0% 22.9%
il (LR &a™ 5,900 5,600 -5.1% 17.1%
il (LR HFEAT 6,200 6,200 0.0% 19.7%
il (LR FREET™ 5,900 5,900 0.0% 17.0%
il (LR BRE™ 5,670 5,770 1.8% 19.3%
il (LR EEH 6,150 6,150 0.0% 22.5%
il (LR ‘O 5,500 5,500 0.0% 17.5%
el (LR S HET 5,900 5,900 0.0% 16.0%
el (LR B SRy 6,000 6,000 0.0% 19.4%
el (LR BB FEHT 5,200 5,600 7.7% 19.1%
el LR KT 6,000 5,900 -1.7% 19.5%
el LR HEF 6,200 6,700 8.1% 21.0%
el LR SR EFET 6,400 5,900 -7.8% 18.2%
el LR s LT 6,600 6,600 0.0% 18.0%
i 1L R == 6,700 6,700 0.0% 18.0%
i 1L R AR 7,500 7,000 —6.7% 22.4%
i LR A K EIHT 6,600 6,600 0.0% 23.2%
i LR SELCET 7,000 6,300 -10.0% 23.6%
i 1L R = i 5 R AT 7,200 6,800 -5.6% 23.4%
LEE N1 6,170 6,250 1.3% 19.0%
LEE A 5,500 5,500 0.0% 17.9%
LEE IR 5,900 6,000 1.7% 19.6%
LEE =R 5,580 5,480 -1.8% 19.4%
LE& BiEm™ 5,998 5,998 0.0% 21.0%
LEE faLlh 5,867 5,867 0.0% 20.6%
LEE e 6,025 6,482 7.6% 22.5%
LEE =Rk 6,143 5,849 —4.8% 23.7%
LEE ER™ 6,720 6,551 -2.5% 22.9%
LE& K 5,031 4,885 -2.9% 17.4%
LE& RIS 5,700 5,700 0.0% 16.3%
LEE tramm 5,498 5,498 0.0% 17.6%
LE& TxmAh 6,500 6,750 3.8% 23.8%
LEE IHEET 6,200 5,600 -9.7% 20.0%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
EEFEL BiRE L HAEZE (A% HAEZE(A%E) DEUE BENERER
(A) (A) (%) | FF2FE12AKRER

LS8 FF e BT 6,100 6,100 0.0% 17.1%
LS8 i HET 5,862 5,862 0.0% 16.4%
LS8 AR EFET 5,696 5,696 0.0% 14.5%
LS8 YR ET 5,975 5975 0.0% 17.2%
LS8 TZEAHHET 6,300 6,500 3.2% 23.3%
IN=T b SET 6,720 6,803 1.2% 24.3%
N1 pN =T 6,640 6,640 0.0% 24.0%
LE& sy 6,180 6,200 0.3% 21.6%
N1 A RET 6,160 6,160 0.0% 24.7%
ifu]-! T 5,500 5,500 0.0% 21.5%
ifu]-! FERTH 5,880 5,980 1.7% 19.9%
l=]-! skt 5,580 5,050 -9.5% 20.5%
ifu]=! Firh 5,190 4,550 -12.3% 18.7%
Iifmp'=) FhRF 5,779 5,779 0.0% 18.2%
ifu]=! THATH 5,800 6,100 5.2% 18.3%
ifu]=! EET 5,500 5,800 5.5% 19.4%
ifu]=! et 5,127 5,421 5.7% 16.4%
ifu]=! K™ 4,990 4,990 0.0% 19.2%
ifu]=! W 5,400 5,100 -5.6% 17.6%
ifu]-! EMh 5,840 5,840 0.0% 18.3%
Iifmp'=) At 4,880 4,960 1.6% 15.3%
ifu]-! LS/ NP TR 5,500 5,500 0.0% 17.9%
Iifmp'=) Bl PN ) 5,950 5,550 —6.7% 22.9%
ifu]-! FNAHT 6,100 5,000 -18.0% 17.0%
f=]-! L EAET 6,200 5,500 -11.3% 21.2%
ifu]-! FA % hE BT 5,870 4,667 -20.5% 16.1%
ifs]-! A ET 5,481 5,260 -4.0% 17.5%
Imp' Be] ECHT 5,650 5,850 3.5% 21.3%
mEER Esh 6,560 6,680 1.8% 21.9%
mEER ISP 6,360 6,500 2.2% 18.8%
BER INAETH 5,900 6,100 3.4% 19.2%
mEER FAIEA T 5,983 6,550 9.5% 18.4%
BER B2l 6,600 6,700 1.5% 18.8%
BEE Be] SR T 6,100 6,100 0.0% 18.9%
BEE EE™ 5,900 5,800 -1.7% 18.3%
BEE i S ET 6,900 6,900 0.0% 20.8%
EER L RgHT 6,000 6,000 0.0% 26.9%
EER & ARAT A 5,600 5,600 0.0% 19.3%
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%ﬁ?ﬁﬂ{%l}ﬁ*il' 'éﬁ&ﬁ.ﬂﬁ':[iﬁ*i 1%@*4%%55 (f"é%) N
2 E L HAEZE(AE) HAEZE(AE) DEUER BENERER
(M) (M) (%) | SFI2FE12A KRR
mER A FHT 6,400 7,000 9.4% 20.4%
mER 4 L BT 5,400 5,400 0.0% 21.6%
mER AR AT 7,083 7,083 0.0% 23.1%
mER A1) 5,800 5,800 0.0% 20.4%
mER EIRHET 5,800 5,800 0.0% 19.1%
mER B B5ET 6,100 6,100 0.0% 18.9%
mER FATE BT 5,700 5,900 3.5% 17.0%
EmEE it SHET 5,900 5,900 0.0% 16.5%
EmEE BE{EHT 6,360 7,150 12.4% 17.1%
mER R EFET 5,600 5,900 5.4% 20.2%
EmEE LR HET 6,360 7,000 10.1% 19.7%
EEE DAHEHT 6,400 7,100 10.9% 24.8%
EEE HLLILEES 6,200 6,200 0.0% 20.9%
ENE =T 6,633 6,633 0.0% 21.1%
ENE H&E™H 5,150 5,150 0.0% 16.8%
ENE R 5,594 5,594 0.0% 19.8%
ENE EBFH 4,625 4,625 0.0% 16.4%
ENE EFmH 5,400 5,400 0.0% 16.4%
Fg ShEH 6,300 6,600 4.8% 20.4%
ENE BV oXis] 6,880 7,050 2.5% 20.7%
Fg =2 6,000 6,000 0.0% 19.2%
FIE T EHT 6,150 6,350 3.3% 21.7%
ENE INS EHT 5,760 5,760 0.0% 20.2%
FIE =KHT 7,500 7,200 -4.0% 20.5%
ENE [ER=T) 6,300 7.100 12.7% 21.3%
ENE F 2R 5,450 5,450 0.0% 16.3%
EFE 4 )1 ET 7,200 7,000 -2.8% 20.7%
ENE Z T 5,764 5,764 0.0% 18.6%
EFE ZEERT 5,850 6,100 4.3% 20.0%
EFE FADSHT 6,000 6,500 8.3% 20.2%
TEE NI 6,650 6,650 0.0% 21.6%
TIEE Ep=hil 6,137 6,137 0.0% 20.9%
TIEE FHE™ 6,390 6,390 0.0% 20.4%
TIEE J\IEETh 5,578 5578 0.0% 18.6%
FTIEE HEES 6,300 6,300 0.0% 20.5%
TEE it 6,131 6,131 0.0% 20.5%
FTIEE KM 5,800 6,100 5.2% 20.0%
EEE FFH 6,500 6,500 0.0% 19.0%
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FE7HREM S8 HARMR N IRERFI A LERE (5%)
#MEFFR %&£ 4 EAEZE(R%E) EAEZE(R%R) DU E ENERER
(A) (A) (%) | FF2FE12AKRER

EIER PO E R 7,100 7,100 0.0% 22.9%
BIER G i) 5,900 6,400 8.5% 21.1%
BIER BET™ 7,278 7,278 0.0% 21.0%
EIER +EHT 5,039 5,039 0.0% 19.8%
EIER A& RET 6,200 6,870 10.8% 27.0%
BIER FARITET 5,300 5,400 1.9% 18.0%
BIER B ERET 6,415 6,415 0.0% 18.4%
BIER N FHET 6,250 6,800 8.8% 21.1%
BIER RAHHET 5,000 5,300 6.0% 23.2%
BIER HABFET 6,767 6,200 -8.4% 23.2%
BIER :Eld:) 6,350 5,850 -7.9% 20.6%
BIER gl 6,100 6,100 0.0% 20.5%
=R Syl 5,680 5,936 4.5% 20.4%
=R EFT 6,085 6,085 0.0% 20.5%
=R T=h 6,332 6,332 0.0% 19.0%
=R mE T 5,300 5,300 0.0% 17.4%
=R ok 1} 5,250 5,250 0.0% 18.1%
=R AT 5,630 5,630 0.0% 17.1%
SR BEM 5,255 5,455 3.8% 16.0%
=gl TiEFKT 4,850 4,850 0.0% 16.7%
= mA+ 6,137 6,137 0.0% 17.9%
=gl Fmm 5,740 5,740 0.0% 18.0%
SR FEM 5,750 5,750 0.0% 20.0%
SR BUEHET 7,400 7,400 0.0% 21.4%
SR =M 6,300 6,300 0.0% 18.0%
SR AN ILIET 5,850 6,500 11.1% 18.0%
SR REHE 4,300 5,400 25.6% 21.9%
B a0 5,400 6,450 19.4% 23.0%
SR KINF 5,449 6,071 11.4% 23.4%
B LNODHET 5,467 5,461 -0.1% 15.8%
SR =3I BT 5,980 5,980 0.0% 22.3%
SR th+ {£HT 6,680 6,680 0.0% 21.0%
SR 1£ )1 ] 6,000 5,800 -3.3% 20.0%
= AN ET 6,725 6,630 -1.4% 20.9%
=R B[R ET 5,040 5,140 2.0% 15.9%
=R =FSEo) 6,600 6,600 0.0% 17.6%
=R R ETHT 4,660 4,450 -4.5% 15.2%
=R 975 +HT 6,000 6,000 0.0% 20.6%
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= KAHE 5,000 6,000 20.0% 18.3%
EHE =IEH 4,600 5,200 13.0% 23.6%
EHE C 2yl 6,100 5,600 -8.2% 16.9%
EHE hEREES 5,900 5,900 0.0% 19.1%
&R 2 FE A 6,090 6,540 7.4% 22.5%
&R 2 &R ™ 6,078 6,225 2.4% 19.9%
2 R RKEHET 6,220 6,220 0.0% 18.0%
2 R ABE KT 6,163 6,358 3.2% 19.4%
2 R BEA™ 6,333 6,314 -0.3% 20.3%
2 R BRix T 6,600 7,170 8.6% 21.9%
2 R \%&Th 6,000 6,000 0.0% 18.5%
2 R Hikm™ 5,800 5,900 1.7% 16.4%
2R yNIIGH 5,350 5,800 8.4% 17.8%
2R 1THE™ 5,600 5,800 3.6% 16.6%
2R i 5,937 6,160 3.8% 22.0%
2 R INBRTH 5,010 5,010 0.0% 16.7%
2 R HEHH 5,200 5,450 4.8% 15.3%
2R &ZAm™ 5,800 5,950 2.6% 15.9%
2 R KEF ™ 5,400 5,430 0.6% 15.3%
& R ~gH 5,400 5,000 ~7.4% 13.7%
fafE R XNERFTH 5,360 5,460 1.9% 16.6%
2R =it 4,800 5,100 6.3% 12.7%
& R faiEm™ 5,250 5,250 0.0% 13.6%
& R =R 6,500 6,500 0.0% 20.9%
2R Ba™ 5,900 6,000 1.7% 17.7%
& R HROFEM 6,500 6,500 0.0% 18.3%
& R RE™ 5810 5,810 0.0% 14.6%
fa Rt R A )| T 5,550 5,680 2.3% 15.4%
& R THEET 5,300 5,500 3.8% 15.0%
2R ij E T 5,600 5,800 3.6% 16.6%
fa Rt R H XS CHT 5,800 5,800 0.0% 18.7%
2R ERENERIRLEES 6,158 5,584 -9.3% 18.2%
EER FEiZm 5,981 6,124 2.4% 16.5%
EER FRREM 6,450 6,450 0.0% 18.8%
EER XK igHT 5,400 6,850 26.9% 14.6%
EER F HHE 5,950 5,600 -5.9% 16.0%
EER MR R TR A B S 5,986 5,986 0.0% 18.5%
EER B it X [ BT AT AR A 5,691 5,691 0.0% 16.5%
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EER EERRMLEES 5,960 5,960 0.0% 19.5%
RIFE Ri&™ 6,800 6,800 0.0% 21.6%
RIFE LR 5,822 5,822 0.0% 19.5%
RIFE BRE T 5,970 5970 0.0% 17.9%
RIFE Rt 5,800 5,800 0.0% 17.5%
RIFE FERET 6,175 5875 -4.9% 18.7%
RIGE N 5,592 5,700 1.9% 17.7%
RIFE xtE™ 6,300 6,400 1.6% 21.7%
RIFE Sl 6,145 6,490 5.6% 22.3%
RIFE EE™ 6,760 6,660 -1.5% 19.5%
RIFE ick: gl 5,925 5,925 0.0% 19.8%
RIGE RE5HE 5,400 5,300 -1.9% 16.4%
RIGE B ET 5,450 5,250 -3.7% 16.7%
RIFE BRARAFET 5,400 5,000 -7.4% 15.2%
RIFE JI4HRET 5,500 5,500 0.0% 16.4%
RIFE BRiE R ET 5,500 5,500 0.0% 16.3%
RIFE IMEE BT 5,070 5,070 0.0% 15.2%
RIGE 1k < BT 5,726 5,726 0.0% 14.0%
RIFE LR EHT 6,800 7,100 4.4% 20.4%
RIS B R thig R AT A B & 6,500 6,500 0.0% 22.1%
IF N REARTH 6,760 6,400 -5.3% 21.3%
REARR KT 6,500 6,500 0.0% 19.4%
REARE A& 6,490 6,100 -6.0% 17.1%
IF N FEM 5,800 5,300 -8.6% 17.8%
IF N KR 6,500 6,700 3.1% 20.9%
BEARR F&H 5,800 6,000 3.4% 18.6%
BEARR tLiEET™ 5,560 6,380 14.7% 19.5%
REARER FHih 6,500 6,300 -3.1% 19.5%
BEARR Fimh 6,060 6,060 0.0% 16.3%
AR EXE™ 5,800 5,960 2.8% 22.3%
REARER FHH 6,300 6,300 0.0% 16.7%
BEARR Be] g% T 5,700 5,700 0.0% 21.2%
REARR XEM 5,800 5,800 0.0% 20.9%
AR &M 6,200 6,200 0.0% 17.7%
AR X EH 6,700 7,500 11.9% 20.1%
PN ERAET 5,900 5,900 0.0% 17.2%
PN A BE T 5,850 5,950 1.7% 20.4%
REARE £ IMET 5,800 5,800 0.0% 16.3%
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REARR FNoKET 5,800 5,800 0.0% 20.3%
REARR KiEHET 6,750 6,400 -5.2% 18.9%
REARR % (58T 5,700 5,700 0.0% 16.4%
REARR Fa/NE AT 6,400 6,400 0.0% 22.3%
REARR INEIET 6,800 6,600 -2.9% 19.0%
REARR E LA 6,700 6,700 0.0% 21.8%
REARIR = 7T 7,300 7,300 0.0% 17.2%
REARR FEIR A 7,200 7,000 -2.8% 16.0%
REARR A BAT R A 7,300 6,600 -9.6% 18.5%
REARR {EN S T 6,400 6,400 0.0% 18.1%
REARR = ST 6,400 5,700 -10.9% 18.7%
REARIR IR ET 6,600 6,100 -7.6% 19.2%
PN ER A HT 6,500 6,100 -6.2% 19.2%
PN 1 LI R AT 7,000 7,000 0.0% 22.0%
PN 5K )IIET 7,000 7,000 0.0% 19.9%
PN I=F(d: ] 4,991 4,991 0.0% 22.2%
PN B AKHET 6,100 6,100 0.0% 21.9%
PN SRHET 5,300 5,600 5.7% 14.6%
PN % B AKHT 6,600 6,600 0.0% 18.8%
REAR i AT T 6,200 6,200 0.0% 17.9%
BEARR K EF 6,200 6,200 0.0% 17.2%
REARE HEH 6,300 6,500 3.2% 19.2%
REARR EARH 5,800 6,300 8.6% 19.1%
REARR WA 6,300 6,000 -4.8% 14.8%
IF N BKEE AT 6,300 6,600 4.8% 19.5%
IF N HIEYHT 6,500 5,900 -9.2% 16.4%
AR e (d:) 5,500 5,800 5.5% 17.5%
KRR Ko 5,994 6,199 3.4% 19.2%
KRR Al FF 5,944 5,945 0.0% 17.4%
KRR g 5,700 6,100 7.0% 18.5%
KRR BHET 5,542 5,725 3.3% 18.1%
KB &t 5,300 5,550 4.7% 14.9%
KB FA#Fh 4,760 5,200 9.2% 18.1%
KB EARM 5,980 6,248 4.5% 17.4%
KRR MrE™ 5,500 5,500 0.0% 19.5%
KB E&EHE™ 5,270 5,300 0.6% 16.7%
KB ¥rEEh 6,180 6,180 0.0% 17.4%
RHR Feth 5,650 5,800 2.7% 18.8%
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KRR E% K%M 6,250 6,250 0.0% 22.1%
KRR =R 6,485 6,485 0.0% 20.4%
KRR ER 5,300 5,250 -0.9% 17.0%
KRB b S 4T 4,750 4,750 0.0% 11.7%
RHR B HET 5,699 5,829 2.3% 16.8%
RHR NEHT 5,980 5,950 -0.5% 17.5%
RHE AERAT 5,950 5,950 0.0% 18.0%
BIFE =y 5,700 6,150 7.9% 16.4%
BIFE #RIE T 6,200 6,200 0.0% 17.2%
BIFE T 5,900 5,900 0.0% 17.8%
BIFE BrEE 5,600 5,600 0.0% 17.2%
BIFE INFRTH 6,360 6,360 0.0% 17.0%
BIFE B 5,400 5,400 0.0% 12.8%
BIFE BT 5,760 5,500 -4.5% 16.8%
BIFE ikl 5,900 6,300 6.8% 17.0%
BIFE ZUDM 6,540 6,200 -5.2% 20.3%
BIFE =& 6,360 6,100 -4.1% 14.8%
BIFE = R HET 5,620 5,770 2.7% 14.9%
=L EE 5,675 6,150 8.4% 15.9%
= fEHT 5,800 6,200 6.9% 15.3%
BIFE = S ET 5,050 5,166 2.3% 14.0%
=L EEL 5,400 5,400 0.0% 12.5%
=L KR4 5,200 5,400 3.8% 15.8%
BIFE ARYLET 5,400 6,200 14.8% 16.7%
=L JII EE T 5,833 5,700 -2.3% 13.2%
BIFE #h =BT 5,400 4,700 -13.0% 12.4%
= IR Fe)11ET 4,800 5,300 10.4% 14.3%
=g EIER 5,091 5,000 -1.8% 15.1%
=g MEZEHT 4,725 5,066 7.2% 16.7%
= IR SEIERET 5,800 6,380 10.0% 18.7%
=g = T FEHET 4,500 4,800 6.7% 14.9%
=y HZ% 6,100 6,100 0.0% 15.2%
EFE k) 4,980 4,980 0.0% 15.2%
EREE ERS™ 6,241 6,241 0.0% 20.5%
EREE EET 6,430 6,700 4.2% 19.7%
EREE M ] 5,645 5,781 2.4% 16.6%
ERESR I AR T 6,000 6,200 3.3% 21.6%
ERESR oKk 6,200 6,200 0.0% 20.4%
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=T fBE™ 6,000 6,791 13.2% 18.7%
=T (i 31t} 6,300 6,400 1.6% 18.1%
=T £/ ] 5,700 6,200 8.8% 16.6%
=T WEEE)IINTH 6,100 6,200 1.6% 19.9%
=T =) 6,100 6,100 0.0% 17.6%
=T AT 5,816 6,669 14.7% 20.3%
ERSR Z5m 5,980 6,150 2.8% 18.1%
ERSR WEERARET 5,992 6,483 8.2% 18.5%
ERSR EmsoFEh 6,500 7,400 13.8% 21.6%
ERSR it 6,320 6,200 -1.9% 17.6%
ERSR |ET 6,600 6,600 0.0% 20.9%
ERSR R 6,400 6,500 1.6% 22.4%
ERSR RE™ 4,850 4,850 0.0% 15.5%
ERSR bR 5,500 5,800 5.5% 15.9%
ERSR =B 4,900 5,700 16.3% 19.1%
ERSR +E55 5,600 5,600 0.0% 22.6%
ERSR SOFEHAT 6,100 6,100 0.0% 20.9%
ERSR R EHET 5,500 5,600 1.8% 19.2%
ERSR BIKET 6,000 6,000 0.0% 18.9%
ERER KU HT 6,500 6,700 3.1% 19.3%
BERESR R RHET 6,200 6,700 8.1% 19.3%
BRSR R T AT 6,200 6,300 1.6% 19.5%
BRSR PNl 6,400 6,400 0.0% 20.1%
BRSR 4T BT 6,500 7,200 10.8% 23.1%
BERESR S FHT 6,000 6,300 5.0% 18.4%
BERESR FAfEFHT 4,900 5,900 20.4% 15.6%
BRSR EBASHET 6,300 6,300 0.0% 17.4%
ERER XF0+t 5,200 5,500 5.8% 18.6%
ERESR FREA 5,800 5,800 0.0% 17.5%
BRESR HAF NET 7,700 6,900 -10.4% 22.0%
BRSR BEJERET 5,900 6,200 5.1% 17.1%
ERER ERHET 6,100 5,800 -4.9% 15.8%
ERER fEz ST 5,600 5,600 0.0% 15.5%
ERESR Ky BT 6,500 6,000 ~7.7% 15.7%
ERESR RLET 6,200 6,000 -3.2% 18.1%
BREE aET 7,600 7,100 -6.6% 19.1%
ERESR N4 H7 6,500 6,500 0.0% 20.1%
ERESR 5 mET 6,800 6,800 0.0% 16.7%
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(M) (M) (%) | SH2FE12A KIF =

R AFAT 7,055 6,876 —2.5% 19.1%
R BEFEH 6,500 6,500 0.0% 15.9%
R AiETh 6,691 6,691 0.0% 16.0%
R AT 6,770 6,500 —4.0% 14.7%
R &M 6,700 6,900 3.0% 18.4%
R i 6,830 7,095 3.9% 17.1%
R hfE™ 6,480 6,480 0.0% 17.7%
R 55%Fm 6,857 6,914 0.8% 18.7%
R E=1-11 7,150 6,982 -2.3% 18.6%
R % R 6,040 6,040 0.0% 13.0%
R MrEET 6,195 6,575 6.1% 18.8%
R 5 AR E#T 5,600 5,700 1.8% 16.9%
R HRENERIRLEES 6,915 6,963 0.7% 17.9%

X OETHRRHEZELEICOVTIE, FR30F5 A ARFORIEHEELEEZB/EAL TS,
X ENEREE(FE1SHRKREBOREEY F15HREELR IOV T MERRBERIRE (FH2F12A AR ORELYELLTLS,
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